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BOARD QUESTION PAPER: FEBRUARY 2020 
ENGLISH YUVAKBHARATI 

 
  

SECTION  I 
 (Reading Skills, Grammar, Vocabulary, Note-making and Summary) 

 
Q.1. (A) Read the first activity, read the extract and then do all the activities:   (12) [15]  
 
 A1. True / False –– 
 Read the following sentences and write down true sentences: (2) 
 (1) Everyone gathered late at the gate of the garden. 
 (2) Everyone emptied their sacks of the fruits they had collected earlier. 
 (3) People walked up to their king happily. 
 (4) The steam was narrow, but the current was strong. 
 

 Right on time the next day, everyone gathered at the gate of the garden. At the time 
king had told them, the guards opened the gates and handed out the sacks. Men, women and 
children started roaming around the beautiful garden. They spotted juicy apples and plump 
mangoes hanging from the trees. They picked these till they saw ripe pomegranates bursting 
with juice, grapes and colourful flowers no one had seen before. People went about picking 
whatever they wished for and filling their sacks with them. 
 But as they walked further into the garden it become wilder, more like a forest, and 
there they saw trees laden with apples of gold, mangoes of silver and flowers studded with 
gems and jewels! 
 Everyone emptied their sacks of the fruits they had collected earlier and flowers. They 
all forgot that they had said they had more than enough for their needs at home. Greed took 
over their minds and all they could think about was adding more and more valuables to their 
sacks. The fruits which they had picked earlier, and had tasted to be as sweet as nectar, now 
lay in heaps around the garden-forgotten and left to rot. 
 Then with their sacks filled right to the top, the citizens made their way to the rear gate 
of the garden where the king was waiting. But what was this? To their astonishment they 
found a raging stream stopping their way. Water gushed down from behind some rocks and 
rushed over pebbles and big boulders through the garden. The stream was narrow, but the 
current was strong. There were no boats to take the people across. Clearly, the only way was 
to swim. But how could they swim with such heavy sacks filled with gold and silver fruits 
and flowers? 
 The people stood by the stream for a long time scratching their heads. Then one young 
man did what they all knew needed too done. He simply abandoned his sack by the stream, 
waded into the water, then swam across to the other side. Slowly the others to followed suit. 
Sadly, some wailing in distress, they left their sacks filled with what they had thought was the 
riches of a lifetime, and dived into the stream. Then they walked up to their king – wet, 
unhappy and angry. 

 
 A2. Find out the reasons –       (2) 
  Find out the reasons for the following statements: 
  (i) Everyone emptied their sacks of fruits they had collected earlier _____ . 
  (ii) The people stood by the stream for a long time scratching their heads_____ .  
 
 A3. Point out ––        (2) 
  Point out two instances from the passage showing greedy nature of people. 

 (i) ______________________________________________________ 
 (ii) ______________________________________________________  

 A4. Pick out ––       (2) 
  Pick out the qualifying words from the extract for the following nouns: 
  (i) mangoes (ii) apples (iii) pomegranates (iv) flowers 

Time: 3 Hours Max. Marks: 80
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 A5. Personal response:  (2) 
  “Greed for money is the common tendency of people.’’ Explain in brief.   
 A6. Grammar ––         (2) 
  Rewrite the following sentences in the ways instructed: 
  (i) They spotted juicy apples and plump mangoes hanging from the trees. 

   (Rewrite using ‘‘not only… but also’’.) 
  (ii) Everyone gathered at the gate of the garden. 

   (Frame a Wh-question to get the underlined part as an answer.)  
 (B) Grammar ––          (3) 
  Do as directed: 
  (1) She was serving as _______ clerk in _______ State Bank of India. 

   (Rewrite it using appropriate articles.) 
  (2) Nashik city recorded 52.7 mm rain _______ the four hours _______ 3.30 pm and  

7.30 pm on Friday. 
   (Fill in the blanks with suitable prepositions.) 

  (3) Grandpa said to Meenu, “I am going for a walk. Are you willing to come with me?” 
   (Change it into indirect narration.)  

Q.2. (A) Read the first activity, read the extract and then do all the activities:         (12) [15]   
 A1. Choose:          (2) 
  Choose two sentences that appropriately mention the theme of the passage: 
  (i) The same scale should not be used for all to measure their performance. 
  (ii) Private schools are good to develop individual’s interest. 
  (iii) The same curriculum should be given to all for better results. 
  (iv) Trying for all the subjects irrespective of the individual’s interest may lead to 

frustration.  
 Once upon a time, the animals decided they must do something heroic to meet the problems 
of a “new world”, so they organized a school. They adopted an activity curriculum consisting of 
running, climbing, swimming and flying. To make it easier to administer the curriculum, all the 
animals took all the subjects. 
 The duck was excellent in swimming. In fact, better than his instructor. But he made only 
passing grades in flying and was very poor in running. Since he was slow in running, he had to stay 
after school and also drop swimming in order to practise running. This was kept up until his webbed 
feet were badly worn and he was only average in swimming. But average was acceptable in school 
so nobody worried about that, except the duck. 
 The rabbit started at the top of the class in running but had a nervous breakdown because of 
so much make up work in swimming. 
 The squirrel was excellent in climbing until he developed frustration in the flying class where 
his teacher made him start from the ground up instead of the treetop down. He also developed a 
“Charlie horse” from overexertion and then got a C in climbing and D in running. 
 The eagle was a problem child and was disciplined severely. In the climbing class, he beat all 
the others to the top of the tree but insisted on using his own way to get there. 
 At the end of the year, an abnormal eel that could swim exceedingly well and also run, climb 
and fly a little, had the highest average and was valedictorian. 
 The prairie dogs stayed out of school and fought the tax levy because the administration 
would not add digging and burrowing to the curriculum.  

 A2. Complete:      
  Complete the following statements by giving suitable reasons:   (2) 
  (i) The duck was average in swimming, because _______ . 
  (ii) The squirrel could score only C in climbing, because _______ .    
 A3. Guess:       (2) 

Guess the result of the prairie dogs if they had been given admission in the animal school and 
support your guessing with the facts from the extract. 
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 A4. Vocabulary        (2) 
  Fill in the blanks with appropriate words given in the box and rewrite: 
   
 
  
  (i) Varun who topped the college was declared _______ . 
  (ii) The _______ of the school should involve more activity subjects. 
  (iii) Poor performance in the exams develop _______ among the students. 
  (iv) It’s necessary to _______ the programme, so that it will be successful.  
 A5. Personal response ––      (2) 
  Suggest in about 50 words at least two ways to make the learning enjoyable. 
  
 A6. Grammar ––       (2) 
  Rewrite the following sentences in the ways instructed: 
  (i) The eagle was a problem child and was disciplined severely.. 
                     (Make it a complex sentence.) 
  (ii) An abnormal eel could swim exceedingly well. 
                              (Rewrite the sentence using ‘able to’.) 
 
 (B) Note-making ––  
  Read the following extract and complete the note given below:   (3) 
   Sudha Murthy was born on 19 August, 1950; in Shiggaon in Karnataka. She and her 

siblings were raised by her parents and maternal grandparents. She completed B.E. in 
Electrical Engineering from B.V.B. College of Engineering and Technology, standing first in 
her class and receiving a gold medal from the Chief Minister of Karnataka. She completed 
M.E. in Computer Science from the Indian Institute of science, standing first in her class and 
receiving a gold medal from the Indian Institute of Engineers. 

   Sudha Murthy became the first female engineer hired at India’s largest auto 
manufacturer TATA Engineering and Locomotive Company (TELCO) as a Development 
Engineer. She later joined Walchand Group of Industries at Pune as a Senior System Analyst. 
In 1996, she started Infosys Foundation and has been a Visiting Professor at the P.G. centre of 
Bangalore University. 

   Sudha Murthy’s work covers the healthcare, education, empowerment of women and 
public hygiene at the grassroot level. Her vision of a library for each school has resulted in the 
setting of 50,000 libraries so far. She is helping our rural areas by building 10,000 public 
toilets and several hundred toilets in the city of Bangalore. Infosys Foundation is a public 
charitable trust founded in 1996 and Sudha Murthy is one of the trustees. Through the 
foundation she has built 2,300 houses in the flood affected areas.  

Sudha Murthy 
 B1. Early life and education ––  
  (i) Birthplace  :  __________________________________    
  (ii) Education  :  B.E. from B.V.B. College of Engineering,  
       with gold medal. 
     :  __________________________________ 
       __________________________________ 
 B2. Career  :  __________________________________ 
       Senior System Analyst in Walchand Group 
       of Industries, Pune. 
       __________________________________  
 B3. Social activities  :  Set 50,000 libraries 
       __________________________________ 
       Several hundred toilets in Bangalore 
       __________________________________ 

valedictorian, curriculum, frustration,
administer 
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Q.3. (A) Read the first activity, read the extract and then do all the activities:                    (12) [15]  
 A1. True or False ––   
  State whether the following statements are true or false:   (2) 
  (i) Animal manure does not have any evil effect on groundwater. 
  (ii) Pollution related health consequences depend on the immunity of the exposed 

population. 
  (iii) Only mercury is to be blamed for kidney damage. 
  (iv) Soil contamination is a potential health hazard.  
  Contaminated or polluted soil affects human health through direct contact with soil or via 

inhalation of soil contaminants which have vaporized. Potentially greater threats are posed by the 
infiltration of soil contamination into groundwater aquifers. This tends to result in the development 
of pollution-related diseases. 

  Health hazards cause due to soil contamination very greatly depending on the pollutant type 
and vulnerability of the exposed population. Constant exposure to chromium, lead, petroleum, many 
pesticides and herbicide formulations can be carcinogenic and can cause congenital disorders or 
other chronic health conditions. Industrial or man-made concentrations of naturally occurring 
substances, such as nitrate and ammonia associated with livestock manure has also been identified 
as health hazards in soil and groundwater. 

  Chronic exposures to benzene at sufficient concentration is known to be associated with 
higher incidences of leukemia. Mercury and cyclodines are known to induce higher incidences of 
kidney damage and some irreversible diseases. Organophosphates and carbonates can induce a 
chain of responses leading to neuromuscular blockage. Many chlorinated solvents induce liver 
changes, kidney changes and depression of the central nervous system. There is an entire spectrum 
of further health effects such as headache, nausea, fatigue, eye-irritation and skin rash for the above 
cited and other chemicals. At sufficient dosages as large number of soil contaminants can cause 
death by exposure via direct contact, inhalation or ingestion of contaminants in groundwater 
contaminated through soil. 

   
 A2. Explain:       (2) 
  Explain from the given extract how soil pollution affects drinking water. 
 
 A3. Find out:       (2) 
  Find out the reasons from the passage why we should avoid chemicals to kill insects. 
 
 A4. Vocabulary ––       (2) 
  Match the pairs of the words in column ‘A’ with their meanings in column ‘B’:    

Column ‘A’  Column ‘B’ 
(i) infiltration  (a) process of eating, drinking 

or using 
(ii) inhalation (b) Action of increasing strength 

of solution 
(iii) consumption  (c) passing of liquid through 
(iv) concentration  (d) breathing air in  

 A5. Personal response:      (2) 
  Suggest two steps to keep away from the use of chemicals in home. 
 
 A6. Grammar ––       (2) 
  Rewrite the following sentences in the ways instructed: 
  (i) Potentially greater threats are posed by the infiltration of soil contamination. 

           (Begin with – ‘The infiltration of soil contamination _______’ and rewrite.)  
  (ii) There is an entire spectrum of further health effects 
                                                           (Rewrite, using Present Perfect Tense)  
 (B) Summary ––        (3) 
  Summarise the above extract with help of the points given and suggest a suitable title: 

Health and groundwater problem – bad effects of chemicals – industrial and man-made 
concentration – pollutants related diseases. 
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SECTION  II  
 (Poetry) 

 
Q.4. Read the given extract and then do all activities that follow:    (4) [8] 
  

I celebrate the virtues and vices 
of suburban middle-class people 
Who overwhelm the refrigerator 
and position colourful umbrellas 

near the garden that longs for a pool: 
For my middle-class brother 

this principle of supreme luxury: 
What are you and what am I, and we 

go on deciding 
the real truth in this world. 

The truth of that dream we buy on credit 
of not going to the office on Saturday, at last, 

and the merciless bosses whom the worker 
manufacturers in indivisible granaries 
where executioners were always born 

and grow up and always multiply 
We heroes and poor devils,  

the feeble, the braggarts, the unfinished, 
and the capable of everything impossible 

as long as it’s not seen or heard.  
 A1. Web ––       (2) 

Complete the web diagram by giving the features of suburban middle class people and their 
mentality from the extract. 

 
 
 
 
 
 
 
   
 A2. Poetic Device ––         (2) 
  Figure of speech: 
   We heroes and poor devils, 
   the feeble, the braggarts, the unfinished, 
   and capable of everything impossible 
   as long as it’s not seen or heard 
   Name the figure of speech in the above lines and find 
   out another example of the same from the extract and write it down. 
 
 A3. Personal Response:       (2) 
  “Middle-class people are ambitious and active in our country.” Explain your views in brief.  
 A4. Poetic creativity ––      (2) 

The word order in line no. 1 and 3 has been changed. It is an instance of inversion. Compose 
two lines of your own using inversion in blank lines. 
 

The virtues and vices, I celebrate 
-----------------------------------------  
The refrigerator, we overwhelm 

----------------------------------------- 

Mentality of suburban 
Middle-class people 

Buying dream 
on credit 
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SECTION – III  
(Rapid Reading and Composition)  

Q. 5.  (A)  Read the extract and do the activities that follow:    (4)  [8] 
   Someone was standing the doorway. An elderly woman, very fluffy, very pink. Her 

cheeks were pink, her dress was pink, her hair was bunched up and white. She was straight 
out of Agatha Christie. 

   “Miss Marple!” I exclaimed. 
   “May I come in?” asked the pink lady. 
   “Please come in,” said my mother. “Do sit down. Do your require a room?” 
   “Not today, thank you. I’m staying with Padre Dutt. He insisted on putting me up. But I 

may want a room for a day or two – just for old times’ sake”. 
   “You have stayed here before.” 
   “A long time ago. I’m Mrs Green, you know. The missing Mrs Green. The one for 

whom you put up that handsome tombstone in the cemetery. I was very touched by it. And 
I’m glad you didn’t add ‘Beloved wife of Henry Green’, because I did not love him any more 
than he loved me.” 

   “Then-then, you aren’t the skeleton?” stammered my mother. 
   “Do I look like a skeleton?” 
   “No!” we said together. 
   “But we heard you disappeared,” I said, “and when we found that skeleton –” 
   “You put two and two together.” 
   “Well, it was Miss Kellner who convinced us,” said my mother. “And you did 

disappear mysteriously. You were missing for years. And everyone knew Mr Green was a 
philanderer.” 

   “Couldn’t wait to get away from him,” said the pink lady. “Couldn’t stand him any 
more. He was a lady-killer, but not a real killer.’ 

   “But your father came looking for you. Didn’t you get in touch with him?” 
   “My father and I were never very close. Mother died when I was very young, and the 

only relative I had was a cousin in West Africa. So that’s where I went - Sierra Leone!”  
 A1. True / False ––       (2) 
  State whether the following statements are true or false and rewrite: 
  (i) The lady standing in the doorway was Mrs Green. 
  (ii) The lady wanted to stay on that day in Green’s hotel. 
  (iii) Miss Kellner convinced all that Mr Green was not a philanderer. 
  (iv) There were no good relations between Mrs Green and her father.  
 A2. Convert into a dialogue:      (2) 
  Convert the above extract into a dialogue form.  
 (B) Read the extract and do the activities that follow:     (4)  

  Tom  : Well, you see, we saw that skull, and those white grinning things – and we 
thought the place was haunted – at least, that’s what Ginger thought. 

  Dentist : (laughing) Great Scott! So that’s the explanation. I happen to be a dentist, and 
what you saw were some of my models used for fitting artificial teeth. 

  Ginger : Then – those rows of grinning teeth are – 
  Dentist : (picking up a model fitted with artificial teeth) Just some of my workmanship. 
  Tom : (Pointing to the skull) But – what about that?  That’s the thing that scared us the 

most. 
  George : Scared you, you mean. It didn’t frighten me. 
  Dentist : (going up L.C, and patting the skull). Ah! This is just a little prize exhibit of 

mine that I keep for ornamental purposes. I call him Percy. 
  Alfie : (still unconvinced). But what about those awful screams we heard? 
  Ginger : We thought someone was being murdered. 
  Dentist : H’m! I’m afraid that doesn’t speak very well for my painless dentistry. Those 

screams came from some of my patients in the surgery. 
  Tom : (laughing). I say, what a set of chumps we’ve been! Fancy getting so scared over 

nothing at all! 
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  Ginger : Well, I must admit old George was the only one who wasn’t in a blue funk. 
  George : (to dentist). We’re awfully sorry for causing so much row. 
  Dentist : Don’t mention it – unless, of course, you’re referring to the singing. (Crossing R). 

Come on, I’ll show you out this way. 
  Tom : (Crossing R.C.) Come on, Alfie. 
  Ginger : (addressing the skull). So long, Percy.   
  George : (going up R. to dentist). I must say you’re being awfully decent about this. 
  Dentist : That’s all right. (looking hard at Gorge). 
    By the way, aren’t you George Harlow? 
  George : (surprised). Yes, that’s right. 
  Dentist : I thought I’d seen you somewhere before. Why, I know your father well! 
  George : Do you, sir? 
  Dentist : Yes, rather. He was only speaking about you the other night. You’ve been 

having some trouble with two back teeth, haven’t you? 
  George : (becoming suddenly nervous). N – no – that is – not much.  
 B1. Complete ––  
  Complete the following sentences:     (2)   
  (i) The white grinning things were actually _______ . 
  (ii) The name of the little prize exhibit was _______ . 
  (iii) The awful screams came from ______ . 
  (iv) There was only a single boy who did not get scared. He was _______ .  
 B2. Convert the dialogue into a story:      (2) 
  Convert the above extract into a story form in about 50 words.  

SECTION  IV  
(Written Communication)  

Q.6.  (A)  Letter Writing ––        [12] 
  Write any ONE of the following letters:                         (4) 
 
 (1) Mohan / Mohini Pande, Roll No. 74, of class XII (Arts) has to attend his / her sister’s 

wedding ceremony held at his / her hometown and needs a leave of absence for 5 days. 
Imagine yourself to be Mohan / Mohini and write a letter to the Principal, SPW Arts 
and Commerce College, Akola, requesting him to grant to leave of absence for 5 days.  

OR  
 (2) Your junior college is situated on a narrow but busy road causing traffic congestion and 

pollution. Noisy horns and constant traffic disturb the classes. Write a letter of 
complaint to the Chief Officer, Municipality of your town and suggest some solutions.  

 (B) Write on any ONE of the following items:                      (4)    
   (1) Appeal –– 
   In the horrible fold situation, the Kerala state suffered a huge loss. Your organisation 

has arranged a rally to raise funds to help the flood-affected people in Kerala. Prepare 
an appeal for the people to contribute to the funds with the help of the following points:   

  ● Purpose of the rally 
  ● Time and place of the rally 
  ● Leading personalities 
  ● Request for donation 
  ● Add your own points  

OR  
  (2) News writing ––  

Draft a news on any ONE of the following headlines, giving dateline, intro and a 
continuing paragraph: 

   (i) Teacher’s Day celebrated in Adarsh School 
   (ii) Strike of Bus Drivers Paralyses State  
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 (C) (1) Counter-view ––                      (4) 
Read the following View Section and develop a Counter-view Section in about  
120 words. Suggest a suitable title:    

View Section 
 

‘Mobiles should be allowed in classrooms’ 
● Mobiles are good source of information 
● They are easy to handle 
● They provide videos to understand the topic 
● Information can be easily exchanged.  

OR  
  (2) Information Transfer ––  
   Look at the tree diagram given below and write a short paragraph about Kaldhari in 

about 120 words. Suggest a suitable title:  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
  
Q.7. (A) Interview Questions:                               [7] 
  Your college has invited a dietitian on the occasion of ‘World Health Day’. Imagine you are 

the editor of your college magazine, taking interview of the dietitian. Frame a set of 8 to  
10 questions to interview him / her.      (4)  

 (B) Speech Drafting: 
  Imagine your college is organising a speech competition on the topic ‘Disappearing Birds’. 

Prepare a speech in about 100 words with the help of the following points: 
  (i) Role of birds 
  (ii) Causes behind their disappearance  
  (iii) Ways to call them back 
  (iv) Add your ideas.      (3) 

Cleanliness 
 

Kaldhari 

Energy 
sources 

Milk 
Co-operatives 

Rainwater 
harvesting  

Massive awareness 
drive  

Solar and 
wind energy 

 

Milk 
chilling 
centres  

cement 
concretised 

central 
road 

 

tap 
water 

toilet 
blocks 

public 
lavatories 

tree 
plantation 

anti-alcohol 
drive  
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yees[& ke=ÀefleHeef$ekeÀe: HeÀjJejer 2020  
eEnoer  

Time : 3 Hours                                                    Max. Marks : 80 
  
ke=ÀefleHeef$ekeÀe kesÀ efueS met®eveeSB: 
(1) met®evee kesÀ Devegmeej ieod³e, Heod³e leLee êgleJee®eve keÀer DeekeÀueve ke=Àefle³eeW ceW DeeJeM³ekeÀlee kesÀ Devegmeej Deeke=Àefle³eeW ceW ner Gllej efueKevee 

DeHesef#ele nw~ 
(2) meYeer Deeke=Àefle³eeW kesÀ efueS Hesve keÀe ner GHe³eesie keÀjW~  
(3) Deeke=Àefle³eeW ceW Gllej Hesve mes ner efueKevee DeeJeM³ekeÀ nw~ 
(4) J³eekeÀjCe efJeYeeie leLee j®evee efJeYeeie ceW Hetíer ieF& ke=Àefle³eeW kesÀ Gllejesb kesÀ efueS Deeke=Àefle³eeB DeeJeM³ekeÀlee kesÀ DevegªHe neW~  
 

                          [20] 
  
ke=Àefle 1. (De) Heefj®íso Heæ{keÀj efvecveefueefKele ke=Àefle³eeB HetCe& keÀerefpeSë      (8) 
 (1) mebpeeue HetCe& keÀerefpeS:          (2) 
 
 
 
 
 
 
   Deeje Menj~ Yeeoesb keÀe cenervee~ ke=À<Ce He#e keÀer DeBOesjer jele~ æpeesjeW keÀer yeeefjMe~ ncesMee keÀer YeeBefle efyepeueer keÀe 

iegue nes peevee~ jele kesÀ ienjeves Deewj metvesHeve keÀes Deewj meIeve Ye³eeJen yeveeleer yeeefjMe keÀer lesæpe DeeJeeæpe~ DebOekeÀej ceW 
[tyee Menj leLee DeHeves Iej ceW meesS-ogyekesÀ ueesie! uesefkeÀve me®eosJe yeeyet keÀer DeeBKeeW ceW veeRo veneR~ DeHeves DeeueerMeeve YeJeve 
kesÀ Yeerlej DeHeves Me³evekeÀ#e ceW yesno Deejeceoe³ekeÀ efyemlej Hej uesìs Les Jes~ Hej uesìvesYej mes ner lees veeRo veneR Deeleer~ veeRo 
kesÀ efueS – pewmeer efveeqM®eblelee Deewj yesef]HeÀke´Àer keÀer æpeªjle nesleer nw, Jen lees Gvemes keÀesmeeW otj Leer~ 

   neueeBefkeÀ ³en eqmLeefle efme]He&À me®eosJe yeeyet keÀer ner veneR Leer~ Hetjs Menj Hej Keew]HeÀ keÀe ³en keÀnj Lee~ DeeS efove 
®eesjer, uetì, nl³ee, yeueelkeÀej, jenpeveer Deewj DeHenjCe keÀer IeìveeDeeW ves ueesieeW keÀes yeslejn Ye³eYeerle Deewj Demegjef#ele 
yevee efo³ee Lee~ keÀYeer jeleeW ceW iegueæpeej jnvesJeeuee GvekeÀe ³en Menj Deye Meece ienjeles ner MeceMeeveer mevveeìs ceW leyoerue 
nesves ueiee Lee~ Deye jeleeW ceW meæ[keÀeW Deewj ieefue³eeW ceW veæpej DeevesJeeues ueesie Menj kesÀ meeceev³e Deewj mebYe´eble veeieefjkeÀ 
veneR, mebefoiOe ueesie nesles Les~ keÀye efkeÀmekesÀ ³eneB keÌ³ee nes peeS, meye DeelebefkeÀle Les~ peye Fme Menj cesb DeHevee ³en Iej 
yeveJee jns Les me®eosJe yeeyet lees yengle He´mevve Les efkeÀ ceneveiejeW ceW oceIeesbìt, efJe<eekeÌle, Depeveyeer³ele Deewj íue-íodceer 
JeeleeJejCe mes Deueie Fme Meeble-menpe Deewj efveMíue-efveoex<e ieBJeF& Menj ceW yeme jns nQ~ uesefkeÀve Deye lees ceneveiej keÀer 
Depeveyeer³ele keÀer DeHes#ee ³eneB keÀer Ye³eeJenlee ves yegjer lejn mes $emle Deewj HejsMeeve keÀj efo³ee Lee GvnW~ ³es yejmeeleer jeleW lees 
GvnW yejyeeoer Deewj leyeener keÀe mee#eele mebkesÀled peeve Heæ[leer LeeR~    

 (2) Gef®ele efceueeve keÀerefpeS:       (2) 
  (i) DeBOesjer jele   (De) YeeoeW 
  (ii) iegue nes ieF&   (Dee) ke=À<Ce He#e 
  (iii) cenervee   (F) Deeje 
  (ii) Menj   (F&) efyepeueer 

Menj kesÀ ueesieeW keÀes Ye³eYeerle 
keÀjvesJeeueer IeìveeSB 

(1) ieod³e efJeYeeie
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 (3) efvecveefueefKele MeyoeW kesÀ efueS Heefj®íso ceW DeeS ngS efJeueesce Meyo efueefKeS:    (2) 
  pewmes – yeenj – 
  (i) megjef#ele    
  (ii) ieeBJe     
  (iii) De®íer    
  (iv) megyen    
 
 (4) ceneveiejer³e peerJeve kesÀ yeejs ceW 6 les 8 HebefkeÌle³eeW ceW DeHeves efJe®eej efueefKeS~    (2)  
                            
 (Dee) Heefj®íso Heæ{keÀj efvecveefueefKele ke=Àefle³eeB HetCe& keÀerefpeS:       (8) 
  (1) mebpeeue HetCe& keÀerefpeS:        (2)  
     
 
 
 
 
    ye=nmHeefle keÀer lejn Meefve keÀe Jee³egceb[ue Yeer neF[^espeve, nerefue³ece, ceerLesve leLee Sceesefve³ee iewmeeW mes yevee 

nw~ Meefve keÀer melen kesÀ yeejs ceW nceW keÀesF& peevekeÀejer veneR nw~ nce kesÀJeue FmekesÀ ®ecekeÀerues yeenjer Jee³egceb[ue keÀes 
ner osKe mekeÀles nQ~ Meefve kesÀ keWÀê Yeeie ceW þesme iegþueer nesveer ®eeefnS, uesefkeÀve ®ebêcee, cebieue ³ee Meg¬eÀ keÀer lejn 
Meefve keÀer melen Hej Glej Heevee Deeoceer kesÀ efueS mebYeJe veneR nesiee~ 

    DeYeer oes oMekeÀ Henues lekeÀ Meefve kesÀ ome GHeûen Keespes ieS Les~ uesefkeÀve Deye Meefve kesÀ GHeûeneW keÀer mebK³ee 
me$en lekeÀ HengB®e ieF& nw~ Oejleer mes Yespes ieS mJe®eeefuele Debleefj#e³eeve Hee³eesefve³ej leLee Jee³epej Meefve kesÀ vepeoerkeÀ 
HenBg®es Deewj FvneR kesÀ peeefjS Fme ûen kesÀ meele veS GHeûen Keespes ieS~ Meefve kesÀ Deewj Yeer kegÀí ®ebê nes mekebÀles nQ~ 

    Meefve keÀe meyemes yeæ[e ®ebê ìeFìve, meewjceb[ue keÀe meJee&efOekeÀ cenllJeHetCe& Deewj efoue®emHe GHeûen nw~ 
ìeFìve nceejs ®ebê mes Yeer keÀeHeÀer yeæ[e nw~ FmekeÀe J³eeme 5150 efkeÀueesceerìj nw~ DeYeer kegÀí meeue Henues lekeÀ 
ìeFìve keÀes ner meewjceb[ue keÀe meyemes yeæ[e GHeûen mecePee peelee Lee, Hejbleg Jee³epej ³eeve keÀer Keespeyeerve mes Helee 
®euee nw efkeÀ ye=nmHeefle keÀe iewveerceer[s GHeûen meewjceb[ue keÀe meyemes yeæ[e GHeûen nw~ 

    uesefkeÀve ìeFìve keÀer meyemes DeodYegle ®eerpe nw Fme Hej ceewpeto Ievee Jee³egceb[ue~ cegK³e ªHe mes veeFì^esspeve mes 
yevee ìeFìve keÀe ³en Jee³egceb[ue nceejer He=LJeer kesÀ Jee³egceb[ue mes Yeer p³eeoe Ievee Deewj Yeejer nw~ ìeFìve kesÀ 
Jee³egceb[ue ceW ceerLesve Yeer He³ee&Hle cee$ee ceW ceewpeto nw~ Fme GHeûen keÀer melen Hej ceerLesve Jee³eg þesme ³ee lejue ªHe ceW 
nes mekeÀleer nw~ 

 
  (2) leeefuekeÀe HetCe& keÀerefpeS:      (2) 
   
 
 
 
                                           
  (3) efvecveefueefKele MeyoeW kesÀ efueS Heefj®íso ceW DeeS Gef®ele Meyo efueefKeS:    (2) 
   (i) yeoue     –   
   (ii) ieieve   –    
   (iii) MeesOe   –   
   (iv) GHeefmLele  –   

(i) Meefve keÀe meyemes yeæ[e ®ebê  
(ii) ye=nmHeefle keÀe GHeûen  
(iii) ìeFìve keÀe J³eeme  
(iv) mJe®eeefuele Debleefj#e³eeve  

Yeerlej

Fve ûeneW Hej Glej Heevee DemebYeJe nw 
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  (4) ûeneW kesÀ yeejs ceW 6 mes 8 HebeqkeÌle³eeW ceW DeHeves efJe®eej efueefKeS~    (2) 
 
 (F) efvecveefueefKele ÒeMveeW kesÀ 80 mes 100 MeyoeW ceW Gllej efueefKeS (keÀesF& SkeÀ):    (4)  
  (1) mJeeceer efJeJeskeÀevebo peer kesÀ mJeosMe YeeqkeÌle kesÀ yeejs ceW efJe®eej mHe<ì keÀerefpeS~ 
  (2) efkeÀjesæ[erceue keÀer kebÀpetme ÒeJe=eflle Hej ÒekeÀeMe [eefueS~ 
  (3) `SkeÀ kegÀllee Deewj SkeÀ cewvee' Heeþ kesÀ DeeOeej Hej cewvee keÀe keÀ©Ce YeeJe mHe<ì keÀerefpeS~ 
 
 

        [16] 
ke=Àefle 2. (De) Heod³eebMe Heæ{keÀj met®evee kesÀ Devegmeej ke=Àefle³eeB HetCe& keÀerefpeS:     (6) 
  (1) mebpeeue HetCe& keÀerefpeS:       (2) 
 
 
 
 
 
 
 
 
 
 
 
 
 
       
  `jefnceve' ieueer nw meebkeÀjer, otpeeW veeEn, þnjeeEn~ 
  DeeHeg Denw, lees nefj veneR, nefj Denw, lees DeeHeg veeeEn~~ 1 ~~ 
   `jefnceve' efpendJee yeeJejer, keÀefnieer mejie Heeleeue~ 
   DeeHeg lees keÀefn Yeerleefj jner, petleer Keele keÀHeeue~~ 2 ~~ 
  efyeiejer yeele yevew veneR, ueeKe keÀjew efkeÀve keÀes³e~ 
  `jefnceve' HeÀeìs otOe keÀes, ceLew ve ceeKeve nes³e~~ 3 ~~ 
   p³eeQ jefnce ieefle oerHe keÀer, kegÀue keÀHetle ieefle meesF~ 
   yejs Gefpe³eejes keÀjw, yeæ{s DebOesjes nesF~~ 4~~ 
                                                                                                             
 (2) Meyo meeefjCeer keÀer mene³elee mes meceeveeLeea Meyo {Btæ{keÀj efueefKeS:     (2) 
   

Ë n efpe ndJee  (i) kegÀHeg$e   – 
Ë efj j Ë  (ii) peerYe   – 
Ë le n Û  (iii) F&MJej   – 
Yeer keÀ Het le  (iv) Deboj   – 

 
 (3) Òemlegle Heod³eebMe keÀe YeeJeeLe& DeHeves MeyoeW ceW ueieYeie 6 mes 8 HebeqkeÌle³eeW ceW efueefKeS~    (2) 
 
 (Dee) Heod³eebMe Heæ{keÀj met®evee kesÀ Devegmeej ke=Àefle³eeB HetCe& keÀerefpeS:     (6) 
  (1) mebpeeue HetCe& keÀerefpeS:       (2) 
   
 
 
 

jnerce peer  
kesÀ Devegmeej 

efpendJee ieefle 

efyeieæ[er 

ieueer

Je=#e keÀe Fve ceewmece ceW ®eewkeÀvvee jnvee 

(2)  Heod³e efJeYeeie 
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   DeyekeÀer Iej ueewìe lees osKee Jen veneR Lee– 
   Jener yetæ{e ®eewkeÀeroej Je=#e 
   pees ncesMee efceuelee Lee Iej kesÀ ojJeepes Hej lewveele~ 
   Hegjeves ®eceæ[s keÀe yevee GmekeÀe Mejerj 
   Jener meæKle peeve  
   Pegefj&³eeWoej Kegjogje levee cewueekegÀ®ewuee, 
   jeFefHeÀue-meer SkeÀ metKeer [eue, 
   SkeÀ Heieæ[er HetÀue Helleeroej, 
   HeeBJeesb ceW HeÀìeHegjevee petlee 
   ®ejcejelee uesefkeÀve DekeÌKeæ[ yeue yetlee 
    OetHe ceW, yeeefjMe ceW, 
    ieceea ceW, meoea ceW, 
    ncesMee ®eewkeÀvvee 
    DeHeveer KeekeÀer Jeoea ceW~ 
    
  (2) keÀes<þkeÀ ceW mes Meyo ®egvekeÀj HebeqkeÌle³eeB HetCe& keÀerefpeS:      (2) 
   (HeÀìeHegjevee, KeekeÀer, jeFefHeÀue-meer, Heieæ[er) 
   (i) DeHeveer ...................... Jeoea ceW~ 
   (ii) ...................... SkeÀ metKeer [eue~ 
   (iii) HeeBJeesb ceW ...................... petlee~ 
   (iv) SkeÀ ...................... HetÀue Helleeroej~ 
   
  (3) Òemlegle Heod³eebMe keÀe YeeJeeLe& DeHeves MeyoeW ceW ueieYeie 6 mes 8 HebeqkeÌle³eeW ceW efueefKeS~   (2)  
 
 (F) Heod³eebMe Heæ{keÀj met®evee kesÀ Devegmeej ke=Àefle³eeB HetCe& keÀerefpeS:     (4) 
  (1) mebpeeue HetCe& keÀerefpeS:       (2) 
 
 
 
                                                                
 
 
  
   GvekesÀ ner mebie-meeLe mes Yee<ee ceW ye®®eeW keÀer 
   Dee peeleer nw SkeÀ Depeye keÀeQOe   
   cegneJejeW, efceLekeÀeW, ueeskeÀesefkeÌle³eeW, 
   ueeskeÀieerleeW, ueeskeÀieeLeeDeeW Deewj keÀLee-mece³ekeÀeW keÀer~ 
   GvekesÀ ner oce mes  
   Deleue ketÀHe Kego peeles nQ ye®®eeW kesÀ ceve ceW 
   Deeefoce mce=efle³eeW kesÀ~ 
   Iegue peeleer nQ ye®®eeW kesÀ meHeveeW ceW 
   efnceeue³e-efJeceeue³e keÀer Deleue kebÀojeDeeW keÀer 
   efoJ³eJeCee&r-efoJ³eiebOeer peæ[er-yetefì³eeB Deewj HetÀue-Jetue~ 
 
  (2) Òemlegle Heod³eebMe keÀe mebosMe 6 mes 8 HebeqkeÌle³eeW ceW efueefKeS~    (2) 

Je=odOee kesÀ mebie mes ye®®eeW ceW 
nesvesJeeues Yee<eeF& ueeYe 
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                                                         – HetjkeÀ Heþve          [10] 
 
ke=Àefle 3.(De) Heefj®íso Heæ{keÀj met®evee kesÀ Devegmeej ke=Àefle³eeB HetCe& keÀerefpeS:     (6) 
 (1) mebpeeue HetCe& keÀerefpeS:        (2) 
 
 
 
 
 
 
 
    
   ceeveJelee keÀer me®®eer mesefJekeÀe ceoj ìsjsmee keÀe pevce 26 Deiemle, 1910 keÀes cekeÌotefve³ee kesÀ SkeÀesHpes veecekeÀ mLeeve 

Hej ngDee~ Jes leerve YeeF&-yenveeW ceW meyemes íesìer LeeR leLee efHelee SkeÀ meHeÀue J³eeHeejer Les~ 12 Je<e& keÀer Dee³eg ceW GvneWves le³e 
efkeÀ³ee efkeÀ Jes efceMevejer yeveWieer~ 18 Je<e& keÀer Dee³eg ceW Jes ueesjsìes efmemìme& kesÀ efueS keÀece keÀjves ueieeR pees Yeejle ceW yengle 
meef¬eÀ³e Lee~ 

   24 ceF&, 1931 keÀes GvneWves veve kesÀ ªHe ceW MeHeLe ueer leLee 1948 lekeÀ keÀuekeÀllee kesÀ meWì cesjer mketÀue ceW 
DeO³eeHeve keÀjleer jneR~ keÀuekeÀllee ceW mketÀue Deeles-peeles mece³e Jes Òee³e: PeesHeæ[Heìdefì³eeW ceW yemes efveOe&veeW keÀer oMee osKe 
êefJele nes peeleeR~ SkeÀ yeej GvneWves cejCeemevve jesieer keÀes osKee, pees keÀ<ì kesÀ keÀejCe Debeflece meeBmesb Yeer veneR ues Hee jne Lee~ 

   ceoj ves DeHeves DeefOekeÀeefj³eeW mes Devegceefle ueskeÀj, keÀuekeÀllee ceW `efceMevejer Dee@HeÀ ®ewefjìer' keÀer mLeeHevee keÀer~ yesIej 
ye®®eeW kesÀ efueS mketÀue Keesuee, yeerceej J³eeqkeÌle³eeW kesÀ efueS DemHeleeue Keesuee Deewj cejCeemevve jesefie³eeW keÀes YejHetj mesJee leLee 
mvesn efceueves ueiee~ keÀF& otmejer ueæ[efkeÀ³eeB Yeer meom³ee yeve ieF¥~ Jes Yeer Hetjs ÒesceYeeJe mes efveOe&ve leLee Demene³eeW keÀer mesJee 
keÀjleeR~ DeveeLe ye®®eeW kesÀ efueS Yeer SkeÀ mebmLee Keesueer ieF&~ ceoj ueesieeW kesÀ Iej-Iej peekeÀj Keevee, oJeeSB leLee keÀHeæ[s 
ceeBieleer~ kegÀí mece³e yeeo ueesie mJe³eb DeekeÀj ®eboe osves ueies~ 

   ceoj kesÀ keÀece keÀes efJeMJe mlej Hej mejene ie³ee keÌ³eeWefkeÀ kesÀJeue Yeejle ceW ner veneR yeefukeÀ SefMe³ee, DeÖeÀerkeÀe, 
uewefìve DecejerkeÀe, HeesueQ[ Je Dee@mì^sefue³ee Deeefo osMeeW ceW Yeer ceoj keÀer mebmLee DeHevee keÀe³e& keÀjves ueieer~ 1965 ceW HeesHe 
pee@ve Hee@ue ves ceoj keÀes otmejs osMeeW ces DeHeveer mesJeeSB osves keÀer Dee%ee os oer~ 

  (2) ke=Àefle HetCe& keÀerefpeS:       (2) 
      – 
    
    (i)     
   (ii)      
   (iii)     
   (iv)    
  
  (3) meceepe mesJee kesÀ yeejs ceW 6 mes 8 HebeqkeÌle³eeW ceW DeHeves efJe®eej efueefKeS~    (2) 
 
 (Dee) Heefj®íso Heæ{keÀj met®evee kesÀ Devegmeej ke=Àefle³eeB HetCe& keÀerefpeS:     (4) 
  (1) mebpeeue HetCe& keÀerefpeS:       (2) 
 
 
 
 
 
 
 

(3) êgleJee®eve efJeYeeie 

ceoj keÀer mebmLee Fve osMeeW 
ceW keÀe³e& keÀjleer nw 

ceoj ìsjsmee kesÀ mesJee #es$e 

HeWefmeue {Btæ{vesJeeues keÀes Hetís ieS meJeeue 
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   DeeHe keÀe³ee&ue³e DeLeJee keÀe@uespe pee jns nQ~ þerkeÀ ®eueles mece³e menmee DeeHe osKeles nQ efkeÀ pesye ceW HeWefmeue veneR nw~ 
DeeHeves DeHeveer keÀesþjer ceW {Btæ{vee DeejbYe efkeÀ³ee~ yeæ[er ®eewkeÀmeer mes DeHeveer keÀesþjer keÀe keÀesvee – keÀesvee íeve [euee~ Fmeer 
mece³e DeeHekeÀe Heg$e ³ee YeeF& DeekeÀj Hetílee nw: 

   ’keÌ³ee {Btæ{ jns nQ?“ 
   ’HeseEmeue {Btæ{ jne nBt?“ 
   ’pesye ceW veneR nw keÌ³ee?“ 
   Deye DeeHe ner meesef®eS efkeÀ pesye ceW HeWefmeue jnves Hej ®eejHeeF& kesÀ veer®es IegmekeÀj keÀesF& Leessæ[s ner HeWefmeue {tBæ{lee nw~ Jen 

efHeÀj keÀnlee nw, ’cespe Hej osKees~“  
   ³eefo Fme yeele Hej Yeer DeeHekeÀes ¬eÀesOe ve DeeS lees DeeHe mebmeej ceW jnves ³eesi³e veneR nw~ DeeHe kegÀí yeesuevee ner 

®eenles nQ efkeÀ DeeHekeÀer DeeBKe Ieæ[er Hej Heæ[leer nw~ DeeHe osKeles nQ efkeÀ yengle efJeuebye nes ie³ee nw~ Ssmes mece³e efJeJeeo keÀjvee 
De®íe veneR~ Fmeer mece³e Heg$e ³ee YeeF& efkeÀmeer keÀece mes yeenj peelee nw~ DeeHe HeWefmeue kesÀ {tBæ{ves keÀe YeieerjLe Òe³elve keÀj jns 
nQ~ oes efceveì kesÀ HeM®eele Heg$e ³ee YeeF& DeekeÀj efHeÀj Hetílee nw, Deye Yeer HeWefmeue veneR efceueer?“ 

   DeeHe Fme yeej Yeer ¬eÀesOe keÀes oyeeS jns~ efHeÀj otmeje ÒeMve, ’keÀneR keÀesì ceW lees veneR jner? Gmes lees Deccee ves Oeesyeer 
kesÀ ³eneB Yespe efo³ee~“ 

  ’veneR, ceQves Deepe, veneR DeYeer, DeeOee Iebìe Henues Gmemes efueKee nw~ yeQieveer jbie keÀer HeWefmeue Leer~ ®eej Deeves keÀer Leer~“ 
   ’Dejs, þerkeÀ ³eeo Dee³ee~ Gmes ceQ Heeveer ceW efYeieeskeÀj ìerkeÀe ueieeves ues ie³ee Lee~ DeYeer uee³ee~“ ³en keÀnkeÀj Heg$e 

³ee YeeF& ®euee peelee nw~ Ssmes mece³e DeeHekesÀ ceve keÀer oMee kewÀmeer nesieer, ³en DeeHe mJe³eb Devegceeve keÀj ueW~ 
   SkeÀ yeej ceQves veF& HegmlekeÀ ceesue ueer~ otmejs efove Iej keÀe keÀesvee-keÀesvee íeve [euee~ jmeesF&Iej Yeer ve íesæ[e~ Iej-

Yej kesÀ meYeer ueesieeW ves nue®eue ce®ee oer~ {tBæ{les-{tBæ{les keÀF& oJeeleW Gæ[wue oeR, Deew<eefOe keÀer MeerefMe³eeB HeÀesæ[ oeR, efpeve He$eesb 
keÀe Gllej osvee jn ie³ee Lee GvnW Hegjeveer ef®eìdefþ³eeW ceW Deewj pees Hegjeveer LeeRb GvnW veF& ef®eìdefþ³eeW ceW efceuee efo³ee; HegmlekeÀeW keÀer 
Hesefì³eeW ceW keÀHeæ[s Deewj keÀHeæ[eW keÀer Hesefì³eeW ces HegmlekeWÀ [eue oeR~ meye kegÀí efkeÀ³ee Hej HegmlekeÀ ve efceueer~ 

 
 (2) ke=Àefle HetCe& keÀerefpeS:        (2) 
   
 
 
 
 

 
          [10] 

ke=Àefle 4.(De) efvecveefueefKele JeekeÌ³eeW ceW mes efkeÀvneR oes JeekeÌ³eeW keÀe j®evee kesÀ Devegmeej Yeso Hen®eevekeÀj efueefKeS:  (2) 
 (1) ceQves meeHeÀ FbkeÀej keÀj efo³ee efkeÀ cegPes Deeies Heæ{vee ner veneR~ 
 (2) cesjs Òeefle mvesn ÒeoMe&ve kesÀ keÀF& ÒekeÀej Les~ 
 (3) [e@keÌìj keÀes osKekeÀj legbjle osn l³eeie keÀjves keÀer F®íe nesleer Leer Deewj veme& keÀes osKekeÀj pevece-pevece peerves keÀer~  
 (Dee) efvecveefueefKele JeekeÌ³eeW ceW mes efkeÀvneR oes JeekeÌ³eeW keÀe keÀeue HeefjJele&ve keÀjkesÀ JeekeÌ³e efHeÀj mes efueefKeS:  (2) 
 (1) ef®e$eiegHle Ieyeje Gþs~ (HetCe& YetlekeÀeue) 
 (2) cepeotj DeewpeejeW keÀe Lewuee Gþelee nw~ (HetCe& Jele&ceevekeÀeue) 
 (3) jmee³eve peesefKece GlHevve keÀjles nQ~ (meeceev³e YeefJe<³eledkeÀeue)   
 (F) efvecveefueefKele cegneJejeW ceW mes efkeÀvneR oes kesÀ DeLe& efueKekeÀj JeekeÌ³eeW ceW Òe³eesie keÀerefpeS:    (2) 
 (1) efoceeie meeleJeW Deemeceeve Hej nesvee 
 (2) DeeveekeÀeveer keÀjvee 
 (3) neLe-Hej-neLe Oejs yewþvee 
 (4) HewjeW Hej ueesìvee  

(4) J³eekeÀjCe efJeYeeie 

HegmlekeÀ æ{tBæ{ves kesÀ efueS efkeÀS ieS Òe³eeme

(i) _______________ 
(ii) _______________ 

(iii) _______________ 

(iv) _______________ 
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 (F&) efvecveefueefKele MeyoeW ceW mes efkeÀmeer SkeÀ Meyo keÀe YeeJeJee®ekeÀ meb%ee ªHe efueefKeS:    (1) 
 (1) ®eb®eue 
 (2) De®íe 
 
 (G) efvecveefueefKele MeyoeW ceW mes efkeÀmeer SkeÀ Meyo keÀe efJeMes<eCe ªHe efueefKeS:    (1) 
 (1) je<ì^ 
 (2) Heneæ[ 
    
 (T) efvecveefueefKele JeekeÌ³eeW ceW mes efkeÀvneR oes JeekeÌ³eeW keÀes MegodOe keÀjkesÀ JeekeÌ³e efHeÀjmes efueefKeS:   (2)  
  (1) HeMet ceveg<³e kesÀ efveefM®ele mvesn mes Heefjef®ele jnlee nw~ 
  (2) yengle mes ceveg<³e metKe keÀe DeLe& veeEn mecePeles~ 
  (3) yeæ[s yeeyet keÀes GvekeÀer efmLeleer Hej o³ee Dee ie³ee~ 
 
 

           [24] 
ke=Àefle 5.efvecveefueefKele ceW mes efkeÀmeer SkeÀ efJe<e³e Hej ueieYeie 250 mes 300 MeyoeW ceW efveyebOe efueefKeS    (10) 
 (1) Yeejleer³e efkeÀmeeve 
 (2) Je=odOeeJemLee – SkeÀ DeefYeMeeHe 
 (3) onspe Heerefæ[le m$eer keÀer DeelcekeÀLee 
 (4) ³eefo Fbìjvesì ve neslee. . .  
 (5) cenBieeF& – SkeÀ mecem³ee 
 
ke=Àefle 6.(De) efvecveefueefKele peevekeÀejer kesÀ DeeOeej Hej He$e keÀe ÒeeªHe lew³eej keÀerefpeS:    (5) 
 
 
  
 
    
 
 

DeLeJee 
  Je=lleeble uesKeve keÀerefpeS: 
  DeHeves keÀefve<þ ceneefJeod³eeue³e ceW ceveeS ieS `Jee®eve ÒesjCee efove' meceejesn keÀe Je=lleeble efueefKeS~ 
 (Dee) efvecveefueefKele DeHeefþle ieod³eKeb[ O³eeve mes Heefæ{S Deewj Gme Hej DeekeÀueve nsleg HeeB®e ÒeMve lew³eej keÀerefpeS:  (5) 
   eEnogmleeve SkeÀ efJeef®e$e osMe nw! GmekeÀer Hen®eeve veoer mes nesleer nw ³ee JevemHeefle mes~ GmekesÀ osMekeÀeue keÀe yeesOe ³ee 

lees veoer keÀjeleer nw ³ee JevemHeefle keÀjeleer nw~ efJeMes<e ªHe mes keÀeue yeesOe JevemHeefle ner keÀjeleer nw~ GmekesÀ $eÝleg®e¬eÀ keÀe 
DeJelejCe meyemes Henues JevemHeefle peiele Hej ner neslee nw~ eEnogmleeve keÀe Deeoceer JevemHeefle keÀes DeHevee ÒeefleªHe ceevelee nw~ 
mebleeve keÀes JeemegosJe Je=#e kesÀ ªHe ceW osKelee~ FmeefueS efyevee JevemHeefle kesÀ eEnogmleeve keÀe keÀesF& Yeer Deveg<þeve mebHevve veneR 
neslee~ ceveg<³e mes ceveg<³e keÀe mebyebOe, JevemHeefle mes JevemHeefle keÀe mebyebOe, uelee Deewj Je=#e keÀe mebyebOe nw~ 

DeLeJee 
  Heer. Sme. DeeF&. keÀer Hejer#ee ceW meHeÀuelee ÒeeHle ³egJekeÀ mes mee#eelkeÀej keÀe vecetvee lew³eej keÀerefpeS~ 
 

 
 mee#eelkeÀejkeÀlee& ³egJekeÀ 

Heer.Sme.DeeF&. keÀer Hejer#ee ceW meHeÀuelee ÒeeHle ³egJekeÀ mes mee#eelkeÀej 

         (5) j®evee efJeYeeie 

ÒeceeCeHe$e Heeves nsleg ÒeeLe&veeHe$e 

Òee®ee³e&, 
ceneJeerj keÀe@uespe, 

keÀesuneHegj 

jcee/jcesMe jeve[s, 
113, jepeejeceHegjer, 

keÀesuneHegj 
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keÀ#ee yeejJeer: efnboer 
 



8

 (F) efvecveefueefKele ceW mes efkeÀvneR ®eej HeeefjYeeef<ekeÀ MeyoeW kesÀ efueS eEnoer Meyo efueefKeS:    (4) 
  (1) Notification   (2) Right 
  (3) Tax   (4) Crime 
  (5) Key-board   (6) Orbit 
  (7) Secretary   (8) Legal 

DeLeJee 
  efvecveefueefKele peevekeÀejer kesÀ DeeOeej Hej efJe%eeHeve keÀe ÒeeªHe lew³eej keÀerefpeS: 
 
 
 
 
 
 

cetu³e 

megiebefOele Deiejyelleer 

veece mebHeke&À 

efJeMes<eleeSB 
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yees[& ke=ÀefleHeef$ekeÀe: ÖesÀyegJeejer 2020 



yees[& ke=ÀefleHeef$ekeÀe: ÖesÀyegJeejer 2020 
cejeþer  

Time : 3 Hours                       Max. Marks : 80   
ke=ÀefleHeef$ekesÀmeeþer met®evee: 
1. DeekeÀueve ke=Àleer Je J³eekeÀjCe ³eebceOeerue Deeke=Àl³ee efkebÀJee ®eewkeÀìer Hesveeves DeLeJee Hesefvmeueerves keÀe{eJ³eele. 
2. mJe®ílee, veerìvesìkesÀHeCee Je uesKeve efve³eceebvegmeej uesKeve ³eebkeÀ[s peeCeerJeHetJe&keÀ ue#e oîeeJes. 
 
 

efJeYeeie 1 – efveyebOeuesKeve 
  
ke=Àleer 1.KeeueerueHewkeÀer keÀesCel³eener SkeÀe efJe<e³eeJej megceejs 300 MeyoebHe³e¥le efveyebOe efuene.    [10] 
 (1) ueeskeÀMeenerle He´meejceeO³eceeb®es cenllJe  
 (2) peieeleerue FbOeve mebHeues lej ....... 
 (3) ceeP³ee ceneefJeoîeeue³eeleerue mvesnmebcesueve 
 (4) ceer iebiee veoer yeesueles³e 
 

efJeYeeie 2 – ieoîe 
[12] 

ke=Àleer 2.(De) Keeueerue GleeN³ee®³ee DeeOeejs met®evesvegmeej ke=Àleer keÀje.       (4) 
  (1) `Yej' He´l³e³e ueeieuesues oesve Meyo efuene.       (1) 
   (i)  
    
   (ii) 
  (2) pecesoej ceeveefmebie ³eeb®es SkeÀe DeesUerle JeCe&ve keÀje.       (1) 
    ceer l³ee Ke[keÀe®³ee Dee[tve nUtnUt yeensj ³ee³e®eer le³eejer keÀª ueeieuees. íeleerYej HeeC³eeletve Ke[keÀeuee 

ef®ekeÀìtve®e ceer {esHejYej HeeC³eele Deeuees Je efleLetve®e otj efkeÀveeN³eeJej SkeÀ Ke[keÀ nsªve þsJeuee. efkeÀveeN³eeJej 
Deeu³eeyejesyej ceer peerJe IesTve JeekeÀ[e eflekeÀ[e l³ee Ke[keÀekeÀ[s HeUt ueeieuees. HegueeJeªve ³esCeeN³ee ef®eveer 
efMeHee³eebveer les Heeefnueb Je l³eebveer ceeP³eeJej ieesUîee ceeje³euee meg©Jeele kesÀueer. Deelee ³esCeeN³ee ieesUîee ceeP³ee 
Heeþerceeietve ³esGÀve metbç metbçç keÀjerle yeepetves peele nesl³ee. ieesUer ueeiesHe³e¥le HeUle pee³e®eb Demeb ceer þjJeueb nesleb. 

    MesJeìer SkeÀoe l³ee nsjuesu³ee Ke[keÀepeJeU ceer Heesn®euees. ceePee Oeerj DeeCeKeer ®esHeuee! #eCee®eener efJeuebye 
ve ueeJelee ceer SkeÀe Ke[keÀeceeietve ogmeN³ee Ke[keÀekeÀ[s veeiecees[er js<esle OeeJele peeT ueeieuees. DeMee®e SkeÀe 
Ke[keÀepeJeU Deece®es pecesoej ceeveefmebie ueHeuesues nesles. l³eeb®³ee HeesUuesu³ee nelee®es yeB[spe lemes®e nesles. l³eeb®³ee  
yeUkeÀì MejerjekeÀ[s Heentve ceer cnìues, `®euees meenye, ³eneBmes Yeeie efvekeÀueles nQ~ Heerís ke@À. efpebouemeenye kesÀ Heeme 
peeSbies Deewj GvekeÀes ueskeÀj efvekeÀue peeSbies !' ceer Heeefnueb – l³eeb®³ee ®esnN³eeJej peeJeb keÀer veener ³ee efJe®eeje®es YeeJe 
efomeues. ceerr Hegvne cnìueb, `®euees meenye, mees®eves keÀe JekeÌle veneR nw !' ³ee ceeP³ee yeesueC³eeJej les Gþues Je 
cnCeeues, `®euees'! 

  (3) `l³eeb®³ee ®esnN³eeJej peeJeb keÀer veener ³ee efJe®eeje®es YeeJe efomeues,' ³ee JeekeÌ³eeleerue DeeMe³emeeQo³e& 8 les 10 DeesUeRle 
efuene.        (2) 
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F³ellee 12 Jeer: cejeþer


  (ye)  Keeueerue GleeN³ee®³ee DeeOeejs met®evesvegmeej ke=Àleer keÀje.       (4) 
  ceer cnCeeuees, ``ceuee peer HegmlekebÀ efJeMes<elJeeves DeeJe[leele l³eebvee ceer ceeP³ee Ëo³ee®³ee keÀHH³eele peHetve þsJeueb³e. megg©Jeeleeruee 

[e@keÌìjkeÀer kesÀuesues Je veblej lellJe%eevee®ee iee{ DeY³eeme keÀªve Heg{s veesyesue HegjmkeÀeje®ee mevceeve ueeYeuesues [e@. De@ueskeÌme 
ke@Àjsue ³eeb®eb `ce@ve o Deveveesve' ns ceePeb DeeJe[leb HegmlekeÀ Deens. Mejerj DeeefCe ceve ns oesvner JesieJesieUs vemetve oesvneR®eer mego={ 
DeeefCe meMekeÌle Jee{ SkeÀef$eleHeCes nesCeb iejpes®eb Deens. ³ee oesvneRHewkeÀer SkeÀekeÀ[s ogue&#e keÀªve ®eeuele®e veener, ne efJe®eej ³ee 
HegmlekeÀele ceeb[uee Deens. p³eebvee [e@keÌìj Jne³e®eb Deens l³eebveer ns HegmlekeÀ Jee®ee³euee®e nJeb. l³eecegUs l³eeb®³ee ue#eele ³esF&ue, 
keÀer ceeveJeer Mejerj ns ³eb$e vemetve SkeÀ Del³eble yegodefOeceeve pewJeHe´Ceeueer Demetve efle®eer GHeHelleer He´Ceeueer Del³eble iegbleeiegbleer®eer Deens. 
ceeP³ee o=<ìerveb ogmejb DeeojCeer³e HegmlekeÀ cnCepes efle©Jeuuetj ³eeb®eb `efLeªkeÌkegÀjue'! ns HegmlekeÀ cnCepes SkeÀ Glke=À<ì Dee³eg<³e 
mebefnlee Deens. eflemejb cnCepes `ueeF&ì He´Àe@ce cesveer ue@cHme'! efueueer³eve F®euej Jee@ìmeve ³eebveer efueefnuesu³ee nîee HegmlekeÀeves ceer 
YeejeJetve iesuees Deens. DeeHeu³ee peieC³ee®es meboYe& keÀesCeles DemeeJesle ns nîee HegmlekeÀele meebefieleuesueb Demetve iesueer Hevveeme Je<ex ns 
HegmlekeÀ ceeP³ee peerJeve He´Jeemeele SkeÀ ceeie&oMe&keÀ cnCetve GYeb Deens.'' 

  `Mejerj DeeefCe cevee®eer mego={lee' ³eeefJe<e³eer 12 les 15 DeesUeRle legce®es efJe®eej efuene. 
efkebÀJee 

  legcnebuee DeeJe[uesu³ee HegmlekeÀebefJe<e³eer 12 les 15 DeesUeRle ceeefnleer efuene. 
 (keÀ)  Keeueerue GleeN³ee®³ee DeeOeejs met®evesvegmeej ke=Àleer keÀje.       (4) 
  (1) DeeOegefvekeÀ mebmke=Àleer®³ee nJeeueer kesÀuesu³ee iees<ìerë       (1)

 (i)  ................... 
   (ii)  .................... 
  (2) YeeJeefvekeÀ DevegYeJe HeejKee Peeu³eecegUs uesKekeÀe®eer efvecee&Ce Peeuesueer ceveesJemLeeë     (1) 
   (i)  ................... 
   (ii)  .................... 
   DeveskeÀ Je<ee¥HetJeea kesÀJnelejer, ve keÀUle, ceer ceePeb vewmeefie&keÀ peerJeve Je He´mevve ceve ³ee DeeOegefvekeÀ mebmke=Àleer®³ee 

nJeeueer kesÀueb. l³eeletve He´Lece Mejerje®ee GHe³eesie Leebyeuee Je l³ee®³eekeÀ[s ogue&#e megª Peeueb. ceie DeefOekeÀ keÀece Je 
³eMeHe´eHleer®³ee ceeies ueeietve cevee®eer menpe DeJemLee megìueer. yegodOeer Je efJe®eejeb®³ee JeeUJebìele YeeJeefvekeÀ DevegYeJe HeejKee 
Peeuee; He´mevvelee iesueer. Heg{s ceveeceO³es `ceer Je ceePeb' Jee{le iesueb. l³eeb®eb®e kegbÀHeCe mJeleëYeesJeleer efvecee&Ce Peeueb Je efJeMJeeMeer 
Demeuesueer SkeÀªHelee legìueer DeeefCe DeeM®e³e& cnCepes efJeMJemJeªHeeMeer veeU legìu³eeJej mJeleëMeer Demeuesuee mebHeke&Àner 
megìuee. ceePeb mJeleëMeer®e veeleb legìueb nesleb. ceePeb Iej njJeueb nesleb. ceeP³ee SkeÀmebOe efvejesieer peerJevee®es legkeÀ[s legkeÀ[s He[ues 
nesles. ceeP³ee Deeleerue SkeÀ Fbefê³e, SkeÀ neskeÀe³eb$e ceuee ³ee ojc³eeve JeejbJeej FMeeje osC³ee®ee He´³elve keÀjle nesleb, keÀer 
keÀenerlejer ieHeÀuele nesles Deens. HeCe ceer l³ee®³eekeÀ[s ogue&#e keÀªve jsìle iesuees. ³ee mJeleëHeemetve legìC³ee®ee leeCe Je 
efKevvelescegUs ceePee Ëo³ejesie efvecee&Ce Peeuee DemeeJee. 

  (3) ``mJeleëHeemetve legìC³ee®ee leeCe Je efKevvelescegUs ceePee Ëo³ejesie efvecee&Ce Peeuee'', ³ee JeekeÌ³eeleerue DeeMe³e legce®³ee 
Meyoeble 8 les 10 DeesUeRle efuene.         (2) 

 
efJeYeeie 3 – Heoîe 

    [8] 
 
ke=Àleer 3.(De) Keeueerue keÀefJeles®³ee DeeOeejs efouesu³ee met®evesvegmeej ke=Àleer keÀje.        (4) 
  (1) `DeKeb[e'leerue `³ecekeÀ' DeuebkeÀej Demeuesueer SkeÀ keÀeJ³eHebkeÌleer efuene.       (1) 
 
 
  (2) mJeleë megKeer nesC³ee®eer ue#eCes .........            (1) 
   (i)  
    
   (ii) 
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yees[& ke=ÀefleHeef$ekeÀe: ÖesÀyegJeejer 2020 



   m$eerHeg©<eW meJe& keÀ<ìkeÀjer JneJeW~~ kegÀìgbyee HeesmeeJeW ~~ DeeveboeveW ~~ Oe´g. ~~ 
   efvel³e cegueercegueeb MeeUWle IeeueeJeW ~~ Devveoeve oîeeJeW~~ efJeoîeeL³ee¥me ~~ 2~~ 
   meeJe&Yeewce mel³e mJeleë Dee®ejeJeW ~~ megKeW JeeieJeeJeW ~~ Hebieg ueeskeÀeb ~~ 3 ~~ 
   DeMee Jele&veeveW meJee¥ megKe oîeeue ~~ mJeleë megKeer Jneue ~~ peesleer cnCes ~~ 4 ~~ 
   meJee¥®ee efveceeakeÀ Deens SkeÀ Oeveer ~~ l³ee®eW Ye³e ceveeR ~~ Oeje meJe& ~~ Oeg´. ~~ 
   v³ee³eeveW Jemlet®ee GHeYeesie I³eeJee ~~ Deevebo keÀjeJee ~~ Yeeb[t ve³es ~~ 2 ~~ 
   Oece& jep³e Yeso ceeveJee vemeeJes ~~ mel³eeveW Jelee&JeW ~~ F&MeemeeþeR ~~ 3 ~~ 
   meJe& megKeer JneJes efYe#ee ceer ceeieleeW ~~ cevegpee meebieleeW ~~ peesleer cnCes ~~ 4 ~~ 
  (3) `mel³eJele&vee' efJe<e³eer legce®es cele 8 les 10 DeesUeRle efuene.           (2) 
     
 (ye)  Keeueerue keÀefJeles®³ee DeeOeejs met®evesvegmeej ke=Àleer keÀje.         (4) 
   mJeHveele legP³eeceeies kegÀCeer peuueeo OeeJeleens 
   Demeb ¢M³e Demeueb keÀer leguee OeeJelee®e ³esle veener. 
   ceePeener Demee®e DevegYeJe – 
   ceeP³eeJej kegÀCeer He´eCeIeelekeÀ Mem$eeves nuuee keÀjleens 
   Demeb mJeHve Demeueb keÀer ceuee Deeke´ÀesMelee®e ³esle veener. 
   lemee He´³elve kesÀuee lej peeie®e ³esles. 
   mJeHvee®esner meboYe& keÀmes jWieeUleele DeeHeu³eepeJeU  
   let oUC³eemeeþer peel³eeJej yemeueerme keÀer 
   leguee ieeCes®e ³esle veener. 
   lemes®e ceePesner – 
   Heg<keÀU yeesuee³e®es þjefJeues keÀer yeesuelee®e ³esle veener. 
   Deelee ³ee efJeMeeue DeewoîeesefiekeÀ Menje®³ee ce³ee&oe 
   legP³eeHe´ceeCes®e ceueener Yeemet ueeieu³eensle íesìîee. 
   ®eue, 
   DeeHeCe DeeHeues SkeÀ íesìs veJes veiej JemeJet 
   p³ee®eer ceeveefmekeÀlee Dece³ee&o Demesue. 
  He´mlegle keÀefJelesletve J³ekeÌle Peeuesueer `DemJemLelee' legce®³ee Meyoeble 12 les 15 DeesUeRle efuene. 

efkebÀJee 
  `DeeoMe& veiejeb' efJe<e³eer legce®es efJe®eej 12 les 15 DeesUeRle efuene. 
 

efJeYeeie 4 – J³eekeÀjCe 
[12] 

ke=Àleer 4.(De) Keeueer efouesu³ee He³ee&³eebletve efveoex<e Meyo DeesUKetve ®eewkeÀìeRle efuene.        (2) 
  (1) (³e) meeeflJekeÀ  (j) meeefllJekeÀ 
   (ue) meelJeerkeÀ  (Je) meellJeerkeÀ 
    
  (2) (³e) ke´Àer[eiebCe  (j) efke´À[ebieCe 
   (ue) efke´À[eiebCe  (Je) ke´Àer[ebieCe 
  
 (Dee)  Keeueerue JeekedÀÒe®eejeb®ee De®etkeÀ DeLe& JeekedÀHe´®eejebmeceesjerue ®eewkeÀìeRle efuene.      (2) 
  (1) (³e) ue#e þsJeCes  (j) ieHHe jenCes 
   (ue) Heeþceesjs nesCes  (Je) nekeÀ ceejCes 
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F³ellee 12 Jeer: cejeþer


   (i) meeo IeeueCes -   
    
   (ii) HeeUle þsJeCes -  
 
 (F)  Keeueerue JeekeÌ³eebleer} JeekeÌ³eHe´keÀejeb®ee ³eesi³e He³ee&³e DeesUKetve ®eewkeÀìeRle efuene.      (2) 
  (1) SkeÀoce Kegyemetjle Yeepeer Deens ner! 
   (³e) He´MveeLeea   (j) GodieejeLeea 
   (ue) vekeÀejeLeea  (Je) neskeÀejeLeea 
  
 
  (2) ceuee HewMeeb®ee KeCeKeCeeìner vekeÀes efve meYee-mebcesueveeleues nejlegjsner vekeÀesle. 
   (³e) vekeÀejeLeea  (j) He´MveeLeea 
   (ue) neskeÀejeLeea  (Je) GodieejeLeea 
  
 (F&)  Keeueerue JeekeÌ³eeble ³esCeeN³ee ³eesi³e efJejeceef®evneb®ee He³ee&³e efveJe[tve ®eewkeÀìeRle efuene.       (2) 
  (1) ne keÀe³e cnCelees³e js yeeyegjeJeebveer Jeenve®eeuekeÀeme efJe®eejues 
  
  
   (³e) ognsjer DeJelejCeef®evn, He´Mveef®evn 
   (j) Godieejef®evn, mJeuHeefJejece 
   (ue) HetCe&efJejece, DeOe&efJejece 
   (Je) DeHetCe&efJejece, He´Mveef®evn  
    
  (2) yebieuee jJ³ee jeve[s®ee®e Deensvee ³ee®eer Kee$eer keÀªve Iesleueer 
  
  
   (³e) ognsjer DeJelejCeef®evn, mJeuHeefJejece 
   (j) SkesÀjer DeJelejCeef®evn, HetCe&efJejece 
   (ue) meb³eesieef®evn, DeOe&efJejece 
   (Je) DeHemeejCeef®evn, DeHetCe&efJejece 
 
 (G)  Keeueerue HeoîeHebkeÌleerleerue Je efJeOeeveebleerue jme DeesUKetve ®eewkeÀìeRle efuene.       (2) 
  (1) Goeme ns JeeUuesues Hegvne yenjleerue ceUs. 
   (³e) Jeerjjme   (j) jewêjme 
   (ue) yeerYelmejme  (Je) keÀ©Cejme 
  
 
  (2) l³ee®es meieUs jkeÌle GueLes HeeueLes Peeues DeeefCe SkeÀ efkebÀkeÀeUer HeÀes[tve lees efJeue#eCe Jesieeves HeUeuee. 
   (³e) Ye³eevekeÀjme  (j) keÀ©Cejme 
   (ue) nem³ejme  (Je) Jeerjjme 
 
 (GÀ)  Keeueer efouesu³ee He³ee&³eebletve HeeefjYeeef<ekeÀ Meyoebmeeþer ³eesi³e lees He³ee&³e efveJe[tve ®eewkeÀìeRle efuene.       (2) 
   (³e) Metv³e keÀeue  (j) Hee$elee 
   (ue) ceneveiej  (Je) efjkeÌle Heo 
   (1) Zero hour -  
      
   (2) Vacant post - 
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yees[& ke=ÀefleHeef$ekeÀe: ÖesÀyegJeejer 2020 



efJeYeeie 5 – efJeveeso ë SkeÀ Jee*dce³eHe´keÀej 
[8] 

ke=Àleer 5. Keeueerue GleeN³ee®³ee DeeOeejs met®evesvegmeej ke=Àleer keÀje.         (1) 
   (1) ceeveJeer peerJeveeleerue efJemebieleer efìHeCeejs IeìkeÀë 
   
  
   (2) GHenemeelcekeÀ uesKeve keÀjCeeN³ee oesve efJeveesoer uesKekeÀeb®eer veeJes efuene.     (1) 
  (i)  
    
  (ii) 
 
   GHeneme cnCepes efKeuueer G[efJeCes efkebÀJee ìJeeUer keÀjCes Demee meeceev³eleë DeeHeCe DeLe& Ieslees. GHenemeeletve 

efJeveesoefveefce&leer meeOeueer peeles. MeejerefjkeÀ J³ebieeJej kesÀuesuee GHeneme nerve opee&®ee ceeveuee peelees. efJeveesoer keÀueeJeble. 
meeefneql³ekeÀ ns ceeveJeer peerJeve J³eJenejeleerue efJemebieleer efìHeleele. l³eeletve efJeveeso efvecee&Ce neslees, lemes®e meceepeeleerue JeeF&ì 
He´Lee, ©{er, Je=lleer, He´Je=lleer ³eeb®³ee efJejesOeele ceveesYetefcekeÀe le³eej nesles. 

   o. cee. efcejemeoej ³eebveer DeveskeÀ GHeneme keÀLee efueefnu³ee. l³ee meeceeefpekeÀ peerJeveele He´ieì nesCeeN³ee efJemebieleeR®es 
oMe&ve Ie[efJeleele. l³eeb®³ee `efJeveesoer keÀLee' DebOeÞeodOeeb®eer efKeuueer G[efJeleele. Goe. `Yeglee®ee pevce' ³ee keÀLesleerue 
HeefnueJeeve Oe[OeekeÀì, He´®eb[ leekeÀoJeeve Demetvener Yegleeuee cee$e Ieeyejlees. 

   meeceeefpekeÀ efJe<e³eeJej GHenemeHej uesKeve keÀjCeejs cegkegbÀo ìekeÀmeeUs ³eeb®³ee `oneJeer®eer (De) HetJe&le³eejer' ³ee 
Heeþele yees[e&®³ee oneJeer®³ee Hejer#esuee DeeflejskeÀer cenllJe osleevee HeeuekeÀebvee leejlec³e jenle veener. yees[e&®³ee Hejer#es®³ee 
keÀeUele keÀesCekeÀesCeles De[LeUs ³esGÀ MekeÀleele, l³eemeeþer keÀesCeleer o#elee I³eeJeer cnCetve cegodoece JesieJesieUs De[LeUs 
efvecee&Ce keÀªve, l³ee JeeleeJejCeele cegueeruee HesHej efueefnC³ee®ee mejeJe keÀjC³eeme Yeeie Hee[leele. ³esLes HeeuekeÀeb®³ee efJeef#eHle 
JeeieC³ee®es DeeHeCeeuee nmet ³esles. 

  
 (3) `ceeveJeer peerJeveele efJeveesoe®es cenllJe' legce®³ee Meyoeble 12 les 15 DeesUeRle efuene.    (4) 

efkeÀbJee 
  `legce®³ee owvebefove peerJeveeleerue efJemebieleer' ³eeyeeyele®es legce®es DevegYeJe 12 les 15 DeesUeRle efuene. 
 
 (4) legcner DevegYeJeuesuee efJeveesoer He´mebie 8 les 10 DeesUeRle efuene.       (2) 
   

efJeYeeie 6 – mepe&veMeerue uesKeve 
[10] 

ke=Àleer 6.(De) Keeueerue keÀefJeles®es 15 les 20 DeesUeRle jmeie´nCe keÀje.          (6) 
    meieUîee®e Pee[eb®³ee HeÀUebJej 
  meieUîee®e Pee[eb®³ee HeÀUebJej vemeles efueefnuesues DeeHeues veeJe 
  meieUîee®e ieeJeebvee peeC³eeFlekeÀer vemeles DeeHeu³ee Hee³eeb®eer OeeJe 
  Deebyeì cnCet ve³esle HeÀUs DeeHeu³ee veeJee®eer efveMeeCeer vemeuesueer 
  veekeÀeª ve³esle ieeJes DeeHeu³ee Hee³eebveer HeeueLeer ve Ieeleuesueer 
  ner SJe{erMeer kegÀ[er, FJeueerMeer DeeWpeU... l³eele ceeJeCeej efkeÀleer? 
  HeCe ns iet{ DeveekeÀueveer³e ceve p³eeuee ve ce³ee&oe ve efceleer 
  DeeHeeHeu³ee kegÀJeleerHe´ceeCes mJeleëHegjles®e MeesOele jeneJes Gllej 
  DeeHeu³ee®e DeO³ee&cegO³ee& HeekeÀUerletve efceUJeeJes efveoeve LeWyeYej Dellej 
       - Je=boe efuece³es 

efkebÀJee 
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F³ellee 12 Jeer: cejeþer


 (De) KeeueerueHewkeÀer keÀesCel³eener SkeÀe efJe<e³eeJej 15 les 20 DeesUeRle mebJeeouesKeve keÀje. 
  (1) GHeenejie=nele keÀece keÀjCeeN³ee  keÀeceieejebMeer mebJeeo. 
  (2) m$eer Yet´Cenl³esefJe<e³eer  m$eerjesielep%eebMeer mebJeeo. 
  (3) DeY³eemee®³ee efve³eespeveeyeeyele oesve efce$e /  cewef$eCeeRceOeerue mebJeeo. 
 (ye) (1) Heg{erue veeceemeeþer ³eesi³e efJeMes<eCe efuene.        (1) 
   
   yebbieuee -  
    
   (keÀ) ìgceoej  (Ke) jbieerle 
   (ie) iegueeyeer  (Ie) HeeCeeroej 
  (2) Keeueerue keÀeJ³eHebkeÌleerleerue He´eflecee DeesUKetve efuene.        (1) 
   keÀeJ³eHebkeÌleer – osne®ee®e Keebye keÀªve DeJeIes Iej leesueles ! 
   He´eflecee -  
 
  (3) Keeueerue JeekeÌ³eeleerue efke´À³eeHeoe®es mLeeve yeouetve GþeJeoej JeekeÌ³ej®evee keÀje.      (1) 
   JeekeÌ³e - Deece®³ee cew$eeruee J³eJeneje®ee mHeMe& veJnlee. 
 
 
  (4) Keeueerue efJeOeeveeleerue HetCee&Y³emle Meyo MeesOetve efuene.       (1) 
   JeekeÌ³e - l³ee®es keÀeUerpe Hegvne uegìguegìg G[t ueeieues. 
   HetCee&Y³emle Meyo - 
 

efJeYeeie 7 – GHe³eesefpele uesKeve 
[20] 

ke=Àleer 7.(De) KeeueerueHewkeÀer keÀesCel³eener oesve ke=Àleer efouesu³ee cegodoîeeb®³ee DeeOeejs mees[Jee.        (10) 
  (1) Je=lleHe$eer³e uesKeeb®es He´keÀej - 
   Je=lleuesKe – ueeskeÀ©®eer Jeelee& - nuekesÀ-HegÀuekesÀ - iebceleerMeerj uesKe - J³eefkeÌleef®e$eCeelcekeÀ uesKe - He´emebefiekeÀ uesKe 

- ogIe&ìvesleu³ee HeefjHeekeÀe®eer keÀLee F. 
 
  (2) DeekeÀeMeJeeCeer yeeleceerHe$ee®es mJeªHe - 
   DeekeÀeMeJeeCeer keWÀêe®es veeJe - Je=lleefveJesokeÀe®es veeJe - yeelec³eeb®es mJeªHe - þUkeÀ yeelec³ee - ke´Àer[e Je 

nJeeceeveefJe<e³ekeÀ Deboepe - þUkeÀ yeelec³eeb®es efJeJes®eve - meceejesHe. 
  
  (3) otjef®e$eJeeCeerJejerue peeefnjeleer®es mebefnleeuesKeve - 
   ke@ÀcesN³ee®eer Yee<ee - keÀueeb®ee JeeHej - ie´enkeÀ keWÀêefyebot - keÀceer Meyoeble - HeefjCeecekeÀejkeÀ - meceHe&keÀ - F. 
 
   (ye)  KeeueerueHewkeÀer keÀesCel³eener SkeÀe efJe<e³eeJej cegueeKeleHetJe& ÒeMveeJeueer le³eej keÀje.         (5) 
  (10 les 12 He´Mve DeHesef#ele) 
  (1) lebìecegkeÌleer meefceleer®³ee DeO³e#eeb®eer cegueeKele. 
  (2) jep³emlejer³e JekeÌle=lJe mHeOexle He´Lece Heeefjleesef<ekeÀ efceUefJeuesu³ee efJeoîeeL³ee&®eer cegueeKele. 
  (3) Hue@eqmìkeÀ efvece&tueveeyeeyele keÀe³e& keÀjCeeN³ee keÀe³e&keÀl³ee&®eer cegueeKele. 
 
   (keÀ) Keeueerue GleeN³ee®³ee DeeOeejs met®evesvegmeej ke=Àleer keÀje.        (5) 
  (1) mebkesÀlemLeU le³eej keÀjC³eemeeþer ueeieCeeN³ee iees<ìer.        (1) 
  (2) mebkesÀlemLeUeJejerue ceeefnleer®³ee DeeoeveHe´oeveemeeþer®eer SkeÀ Yee<ee.      (1) 
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  (3) Keeueerue cejeþer Meyoebmeeþer ³eesi³e Fbie´peer He´efleMeyo efuene.         (1) 
   (i) efJeMes<e KegCee -   
     
   (ii) ogJes -  
 
    mebkesÀlemLeUebJejerue ceeefnleer®³ee DeeoeveHe´oeveemeeþer SkeÀe He´ceeefCele Yee<es®eer iejpe nesleer. l³eecegUs 1990 

ceO³es `ne³eHej ìskeÌmì ceeke&ÀDeHe ueBiJespe' (HTML) ³ee Yee<es®eer He´ceeefCele mebefnlee le³eej keÀjC³eele Deeueer. ³ee 
Yee<esJej kegÀCee®eerner ceeuekeÀer veener. ³ee Yee<es®es pegpeyeer %eeve DemeCeeN³ee kegÀCeeueener mJeleë®es mebkesÀlemLeU mJeleë®e 
le³eej keÀjlee ³esles. l³eemeeþer Je[& He´esmesmejceO³es cepeketÀj osJeveeiejerle efuene³e®ee. ne cepeketÀj efueefnC³eemeeþer 
`³egefvekeÀes[' efkebÀJee `yejene' JeeHejlee ³esF&ue. l³ee cepekegÀjele efJeefMe<ì efþkeÀeCeer ³ee Yee<es®³ee efJeMes<e KegCee (tags) 
veeWoJee³e®³ee. cepeketÀj le³eej Peeuee, keÀer S®eìerSceSue Sef[ìj JeeHeªve ³ee efJeMes<e KegCee veeWoJelee ³esleele. ³ee 
efJeMes<e KegCeebvee `ceeke&ÀDeHe' cnCeleele. ³ee KegCee efomele veenerle, HeCe l³eeb®³eecegUs cepeketÀj efMemleyeodOe HeodOeleerves 
mebkesÀlemLeUeJej efomelees. l³eeveblej `htm' Demee l³ee OeeefjkesÀuee (file) efJemleej oîee³e®ee Je OeeefjkeÀe mesJn 
keÀje³e®eer, keÀer mebkesÀlemLeU le³eej Peeues. Je[& He´esmesmejceO³es cepeketÀj le³eej keÀªve S®eìerSceSue Yee<es®es ªHeeblej 
keÀjCeejs keÀvJnì&j Òeesûe@cmener GHeueyOe Deensle. HeCe DeeHeues mebkesÀlemLeU DeekeÀ<e&keÀ keÀjC³eemeeþer DeeHeCe®e 
DeejsKeve keÀªve l³eevegmeej KegCee veesboJeCes DeefOekeÀ ®eebieues Demeles. De#ejefveJe[, cepeketÀj, l³ee®es ³eesi³e Heefj®íso, 
ef®e$eeb®³ee OeeefjkeÀe, ne³eHej ìskeÌmìmeeþer ogJes (links) ³ee iees<ìer ue#eele þsJetve DeeHeCe DeeHeues mebkesÀlemLeU le³eej 
keÀª MekeÀlees. Heg{erue ìHH³eemeeþer Java.php efkebÀJee Flash ner He@kesÀpe JeeHejlee ³esleerue. 

  (4) Gllece mebkesÀlemLeUe®eer ue#eCes legce®³ee Meyoeble 8 les 10 DeesUerble efuene.       (2) 
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General Instructions : 
 The question paper is divided into FOUR sections. 
1. Section A :  Q. No.1 contains Ten multiple choice type of questions carrying One mark each. 

   Q. No. 2 contains Eight very short answer type of questions carrying One mark each. 
2. Section B :  Q. No.3 to Q. No. 14 contain Twelve short answer type of questions carrying  

Two marks each. 
     (Attempt any Eight). 
3. Section C :  Q. No. 15 to Q. No.26 contain Twelve short answer type of questions carrying  

Three marks each. 
    (Attempt any Eight). 
4. Section D :  Q. No. 27 to Q. No. 31 contain Five long answer type of questions carrying  

Four marks each. 
    (Attempt any Three). 
5. Use of log table is allowed. Use of calculator is not allowed. 
6. Figures to the right indicate full marks. 
7. For each MCQ, correct answer must be written alongwith its alphabet.  
 e.g., (a)………   / (b) ……..   / (c) ……..    / (d) …….. etc.  
8. Physical Constants: 
 i. h = 6.63  10–34 Js  ii.  c = 3  108 m/s  iii.  = 3.142 

 iv.  g = 9.8 m/s2   v. 0 = 8.85  10–12 
2

2

c
Nm

  vi. 0 = 4  10–7 Wb
A m

  

 
          
  
Q.1. Select and write correct answers of the following questions :   [10] 
i. If the length of a potentiometer wire is increased by keeping constant potential difference across the 

wire, then _______. 
 (A) null point is obtained at larger distance  (B) there is no change in the null point 
 (C) potential gradient is increased (D) null point is obtained at shorter distance  
ii. If a coil of metal wire is kept stationary in a uniform magnetic field, then_______. 

 (A) an e.m.f. is induced in the coil (B) a current is induced in the coil 
(C) neither e.m.f. nor current is induced (D) both current and e.m.f. are induced  

iii. In rotational motion of a rigid body, all particles move with _______. 
 (A) same linear velocity and same angular velocity 
 (B) same linear velocity and different angular velocity 
 (C) different linear velocities and same angular velocities 
 (D) different linear velocities and different angular velocities  
iv. A standing wave is produced on a string fixed at one end and free at other. The length of string must 

be an _______. 

 (A) odd integral multiple of 
4
   (B) integral multiple of 

2
   

 (C) integral multiple of    (D) integral multiple of 
4
   

 
v. Herapathite (iodo sulphate of quinine) is used in the production of _______. 
 (A) achromatic prism (B) polaroid (C) biprism (D) solar cell 
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vi. A diffraction pattern is obtained by making blue light incident on a narrow slit. If blue light is 
replaced by red light, then the diffraction bands _______. 

 (A) disappear (B) become broader (C) become narrower (D) remain same  
vii. Two droplets coalesce in a single drop. In this process _______. 
 (A) energy is liberated   (B) energy is obsorbed 
 (C) energy does not change  (D) some mass is converted into energy   
viii. In hydrogen atom, electron jumps from the 3rd orbit to the 1st orbit. The change in angular 

momentum is _______. 
 (A) 1.05  10–34 Js (B) 2.11  10–34 Js (C) 3.16  10–34 Js (D) 4.22  10–34 Js   
ix. A fixed volume of iron is drawn into a wire of length ‘L’. The extension ‘x’ produced in the wire by 

a constant force ‘F’ is proportional to _______. 

 (A) 2

1
L

  (B) 1
L

  (C) L2 (D) L 
 
x. Two tuning forks have frequencies 450 Hz and 454 Hz respectively. On sounding these forks 

together, the time interval between two successive maximum intensities will be _______. 

 (A) 1 s
4

  (B) 1 s
2

  (C) 1s (D) 4s 
 
Q.2. Answer the following questions :                                              [8] 
i. What is attenuation in communication system? 
ii. What is isothermal process? 
iii. What does the negative sign indicate in Lenz’s law? 
iv. Define uniform circular motion. 
v. At which position, the total energy of a particle executing linear S.H.M. is purely potential? 
vi. State the name of the visible series in hydrogen spectrum. 
vii. At what height the acceleration due to gravity is 25% of that at the surface of the Earth, in terms of 

radius of the Earth. 
viii. Capacity of a parallel capacitor with dielectric constant 5 is 40 F. Calculate the capacity of the 

same capacitor when dielectric material is removed.  
 
             
Attempt any EIGHT questions of the following :       [16]  
Q.3. Define ; 
 (a) Threshold frequency  (b) Photoelectric work function  
Q.4.  Distinguish between step-up and step-down transformer.    
Q.5. Write a short note on sky wave propagation.  
Q.6.  Obtain the relation between the magnitude of linear acceleration and angular acceleration in circular 

motion.  
Q.7. Deduce Boyle’s law using the expression for pressure exerted by the gas.  
Q.8.  State any two postulates of Bohr’s theory of hydrogen atom.  
Q.9. State the factors on which resolving power of microscope depends. How can it be increased?  
Q.10. The photoelectric work function for a metal surface is 3.84  10–19 J. If the light of wavelength  

5000 Å is incident on the surface of the metal, will there be photoelectric emission?  
Q.11. A parallel L-C circuit comprises of a 5H inductor and 5F capacitor. Calculate the resonant 

frequency of the circuit.  
Q.12. A wire length 1 m and mass 2 g is in unison with a tuning fork of frequency 300 Hz. Calculate the 

tension produced in the wire.  
Q.13. Energy of 1000 J is spent to increase the angular speed of a wheel from 20 rad/s to 30 rad/s. 

Calculate the moment of inertia of the wheel.  
Q.14. Energy of an electron in the second Bohr orbit is –3.4 eV. Calculate the energy of an electron in the 

third Bohr orbit. 

Section-B 
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Attempt any EIGHT questions of the following :      [24]  
Q.15. State Newton’s law of gravitation. Obtain the relation between universal gravitational constant and 

gravitational acceleration on the surface of the earth.  
Q.16. Define linear S.H.M. Obtain differential equation of linear S.H.M.  
Q.17. Explain Doppler effect in sound. State any two applications of Doppler effect.  
Q.18.  State and prove the principle of parallel axes in rotational motion.   
Q.19. Explain the concept of a parallel plate capacitor. State its any ‘two’ applications.  
Q.20. Define : 
 (a) Young’s modulus  (b) Bulk modulus  (c) Poisson’s ratio  
Q.21. Explain energy distribution spectrum of a black body radiation in terms of wavelength.   
Q.22. In a biprism experiment, light of wavelength 5200 Å is used to obtain an interference pattern on the 

screen. The fringewidth changes by 13 mm when the screen is moved towards the biprism by  
50 cm. Calculate the distance between the two virtual images of the slit.  

Q.23. A simple pendulum of length 1 m has mass 10 g and oscillates freely with amplitude of 5 cm. 
Calculate its potential energy at extreme position.  

Q.24. If the difference in the velocities of light in glass and water is 0.25  108 m/s, calculate the velocity 
of light in air. Given that refractive index of glass and water with respect to air are 15 and  
4
3

 respectively. 
 
Q.25. In a Circus, a motor-cyclist having mass of 50 kg moves in a spherical cage of radius 3 m. Calculate 

the least velocity with which he must pass the highest point without losing contact. Also calculate 
his angular speed at the highest point.  

Q.26. Two resistances X and Y in the two gaps of a meter-bridge gives a null point dividing the wire in 
the ratio 2:3. If each resistance is increased by 30 , the null point divides the wire in the ratio 5:6, 
calculate the value of X and Y.  

           
  
Attempt any THREE questions of the following :      [12]  
Q.27. Show that all harmonics are present in case of an air column vibrating in a pipe open at both ends.      
Q.28. What is a rectifier? With the help of a neat circuit diagram explain the working of a null wave 

rectifier.  
Q.29. What is capillarity? Give any two applications of capillarity. Calculate the work done in blowing a 

soap bubble of radius 0.1 m. (Surface tension of soap solution = 30 dyne
cm

) 
 
Q.30. State the advantages and disadvantages of a moving coil galvanometer. 
 A moving coil galvanometer (M.C.G.) has 10 turns each of length 12 cm and breadth 8 cm. The coil 

of M.C.G. carries a current of 125 A and is kept perpendicular to the uniform magnetic field of 
induction 10–2 T. The twist constant of phosphor bronze fibre is 12  10–9 Nm/degree. Calculate the 
deflection produced.  

Q.31. Derive an expression for magnitude of magnetic dipole moment of a revolving electron. 
 A circular coil of 300 turns and diameter 14 cm carries a current of 15 A. Calculate the magnitude 

of the magnetic dipole moment associated with the coil. 
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General Instructions : 
 The question paper is divided into FOUR sections. 
1. Section A :  Q. No.1 contains Ten multiple choice type of questions carrying One mark each. 

   Q. No. 2 contains Eight very short answer type of questions carrying One mark 
each. 

  
2. Section B :   Q. No.3 to Q. No. 14 are Twelve short answer type of questions carrying Two marks 

each. (Attempt any Eight). 
 
3. Section C :  Q. No. 15 to Q. No.26 contain Twelve short answer type of questions carrying Three 

marks each. (Attempt any Eight) 
4. Section D :  Q. No. 27 to Q. No. 31 are Five long answer type of questions carrying Four marks 

each. (Attempt any Three) 
5. Use of log table is allowed. Use of calculator is not allowed. 
6. Figures to the right indicate full marks. 
7. For each MCQ, correct answer must be written along with its alphabet, e.g. (a) ……..  / (b) …….. 

(c) …….. / (d) …….. etc.  
8. Physical constant: 
 Avogadro’s Number = NA = 6.022  1023 
  

 
    
Q.1. Select and write correct answer of the following questions:                              [10][7] 
i. Identify synthetic polymer amongst the following: 
 (A) Linen (B) Jute (C) Silk (D) Terylene 
 
ii. Which among the following hydrides is NOT a reducing agent? 
 (A) H2O (B) H2S (C) H2Te (D) H2Se 
 
iii. During oxidation of ferrous sulphate using mixture of dil. H2SO4 and potassium dichromate; 

oxidation state of chromium changes from _______. 
 (A) + 6 to + 2 (B) + 6 to + 3 (C) + 6 to + 1 (D) + 6 to + 4 
 
iv. Identify complex ion in which effective atomic number of the central metal ion is 35. 
 (Given At. Number of Co = 27, Fe = 26, Zn = 30) 
 (A) [Zn(NH3)4]2+ (B) [Fe(CN)6]4– (C) [Fe(CN)6]3– (D) [Co(NH3)6]3+ 

 
v. Conversion of methyl chloride into methyl fluoride is known as _______. 
 (A) Finkelstein reaction  (B) Swarts reaction 
 (C) Williamson’s synthesis  (D) Wurtz reaction 
 
vi. The number of moles of methyl iodide required to prepare tetramethyl ammonium iodide from  

1 mole of methyl amine is/are: 
 (A) 1 (B) 2 (C) 3 (D) 4 
 
vii. Name the reagent which on reaction with glucose confirms the presence of five hydroxyl groups in 

glucose: 
 (A) Hydroxyl amine   (B) Bromine water 
 (C) Dilute nitric acid   (D) Acetic anhydride 
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viii. Identify antibiotic drug amongst the following: 
 (A) Codeine   (B) Equanil 
 (C) Penicillin   (D) Valium  
ix. The number of atoms per unit cell of body centred cube is: 
  (A) 1   (B) 2 
 (C) 4   (D) 6  
x. Calculate the work done during the reactions represented by the following thermochemical equation 

at 300 K: 
 
    
 (R = 8314 JK–1 mol–1) 
 (A) + 4988 kJ    (B) – 4988 kJ 
 (C) – 4988 kJ    (D) + 4988 kJ 
 
Q.2. Answer the following questions :                                              [8] 
i. What is the concentration of dissolved oxygen at 50C under pressure of one atmosphere if partial 

pressure of oxygen at 50C is 0.14 atm. 
 (Henry’s law constant for oxygen = 1.3  10–3 mol dm–3atm–1)  
ii. Write structural formula of the alcohol that results when acetaldehyde is reacted with CH3MgBr in 

the presence of dry ether and the product is hydrolysed.  
iii. Write balanced chemical reaction for preparation of acetic anhydride using acetic acid.  
iv. Write the chemical reaction involved in the formation of ethylamine using acetaldoxime.   
v. What is electromatallurgy?  
vi. For the reaction: 
  
  
 (H = + 5724 kJ, S = 1758 Jk–1) 
 At what temperature the reaction will be spontaneous?  
vii. The standard e.m.f. of the following cell is 0.463 V 
   
   
 If the standard potential of Ag electrode is 0.800 V, what is the standard potential of Cu electrode?  
viii. Write the mathematical relation between half life of zero order reaction and its rate constant.  
 
 
   
Attempt any EIGHT of the following questions:            [16] 
Q.3. State and explain Hess’s law of constant heat summation.  
Q.4. Write the cell reaction and calculate E cell of the following electrochemical cell: 
  
 
  
 o

AlE = – 1.66 V 
 o

ZnE = – 0.76 V 
 
Q.5. Distinguish between order and molecularity of a reaction.  
Q.6. Write two uses of each of the following: 
 a.  Helium 
 b.  Neon 

Section-B 
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Q.7. Write the name and chemical formula of one ore of zinc,  
 Define: Quaternary ammonium salt.  
Q.8. What is the action of acidified potassium dichromate on the following: 
 a. KI 
 b. H2S  
Q.9. Define optical activity. How many optical isomers are possible for glucose?  
Q.10. Explain continuous etherification process for the preparation of diethyl ether.  
Q.11. Identify ‘A’ and ‘B’ in the following reaction: 
  
 
  
Q.12. Write Howorth projection formula of  
  – D – (+) – glucopyranose. 
 Define hormones.  
Q.13. Classify the following solids into different types: 
 (A) Silver   (B) P4 
 (C) Diamond   (D) NaCl  
Q.14. Define: 
 a. Molality 
 b. Osmotic pressure 
 
 
 
Attempt any EIGHT of the following questions:            [24] 
Q.15. Define flux. 
 Write a note on leaching process.  
Q.16. Draw the structure of sulphurous acid.  
 Explain why nitrogen does not form pentahalides.  
Q.17. Write the general electronic configuration of lanthanoids. Why are most of the compounds of 

transition metals coloured?  
Q.18. Calculate the effective atomic number (e.a.n) of copper in [Cu(NH3)4]2+  [Z of Cu = 29] 
 Explain ionisation isomerism in coordination compounds with a suitable example.  
Q.19. Write the chemical reactions of chlorobenzene with respect to: 
 a. Sulphonation 
 b. Acetylation 
 c. Nitration  
Q.20. How is ethanol prepared from the following compounds? 
 a. Ethanal 
 b. Ethene 
 c. Bromoethane  
Q.21.  How are primary, secondary and tertiary nitroalkanes distinguished using HNO2?  
Q.22. What are monosaccharides? Explain denaturation of proteins.  
Q.23. Define non-biodegradable polymer.  
 Write the preparation of terylene.  
Q.24. What are soaps? How are soaps prepared? Define antiseptic.  
Q.25. Unit cell of a metal has edge length of 288 pm and density of 7.86 g cm–3. Determine the type of 

crystal lattice. [Atomic mass of metal = 56 g mol–1]  
Q.26. Define instantaneous rate of reaction. Explain pseudo first order reaction with suitable example. 

+ CH3 COCl AlCl3
HClA Zn Hg

Conc.HCl
  B + H2O
 
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Attempt any THREE of the following questions:            [12] 
Q.27. Define the terms:        
 a. Electrochemical series 
 b. Corrosion 
 Write two applications of electrochemical series.  
Q.28. Explain interhalogen compounds. How is oxygen prepared from the following compounds? 
 a. KClO4 
 b. PbO2  
Q.29. Explain the mechanism of aldol addition reaction. Mention two uses of carboxylic acids.  
Q.30. Derive the mathematical expression between molar mass of a non-volatile solute and elevation of 

boiling point. 
 State and explain van’t Hoff-Avogardo’s law.  
Q.31. Define: 
 a. Reversible process 
 b. Standard enthalpy of combustion 
  Calculate the enthalpy change for the reaction: 
  N2(g) + 3H2(g)  2NH3(g) 
  The bond enthalpies are:    

Bond N  N H – H N – H 
H kJ mol–1 946 435 389 
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General Instructions:  
The question paper is divided into FOUR sections. 
1. Section A: Q. 1 contains Eight multiple choice type of questions carrying Two marks. 
    Q. 2 contains Four sub-questions each carrying One mark each. 
2. Section B: Q. 3 to Q. 14 each carries Two mark.(Attempt any Eight) 
3. Section C: Q. 15 to Q. 26 carries Three marks.(Attempt any Eight) 
4. Section D: Q. 27 to Q. 34 each carries Four marks.(Attempt any Five) 
5.  Use of log table is allowed. Use of calculator is not allowed. 
6. Figures to the right indicate full marks.  
7. Use of graph paper is not necessary. Only rough sketch of graph is expected. 
8. For each MCQ, correct answer must be written along with its alphabet: 
 e.g.(a)……….. / (b) ……….. / (c) ……….. / (d) ……….. etc. 
9. Start answers to each section on a new page. 
  

 
 

  
Q.1. Select and write the most appropriate answer from the given alternatives for each question:   [16] 

i. In ABC, if a = 2, b = 3 and sin A = 2
3

, then  B = _______. 

  (A) 
4
  (B) 

2
  (C) 

3
  (D) 

6
  (2) 

 
ii. If a 3i j 4k     , b 2i 3j k      and c 5i 2 j 3k      , then  a b c  is _______. 

  (A) 100 (B) 110 (C) 109 (D) 108 
  (2) 

 
iii. The cartesian equation of the line passing through the points A(4, 2, 1)  and  
  B(2, –1, 3) is _______. 

  (A) 4
2

x +  = 2
3
y = z 1

2



 (B) 4
2



x  = 2
3



y = z 1
2



 

  (C) 4
2
x   = 2

3
y = z 1

2



 (D) 4
2



x   = 2
3
y = z 1

2



  (2) 
 

iv. If the line    r i 2 j 3k 2i j 2k            is parallel to the plane  r 3i 2 j mk 10      ,  

  then value of m is _______. 
  (A) – 2 (B) 2 (C)  2 (D)  0 (2) 

 
v. If f(x) = 1 – x, for 0 < x  1 = k, for x = 0 is continuous at x = 0, then k = ______. 
  (A) 0 (B) –1 (C) 2 (D) 1 (2) 

 
vi. The function f(x) = xx is minimum at x = _______. 

  (A) e (B) – e (C) 1
e

 (D) – 1
e

 (2) 
   

vii. If 
k

3

0

4 d x x = 16, then the value of k is _______. 

  (A) 1 (B) 2 (C) 3 (D) 4 (2) 
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viii. Order and degree of differential equation 
324

4
d d1
d d

     
   

y y
x x

respectively are _______. 

  (A) Order: 1, Degree: 4 (B) Order: 4, Degree: 1 
  (C) Order: 6, Degree: 1 (D) Order: 1, Degree: 6  (2)  

Q.2.  Answer the following questions:      [4] 
i. Write the dual of p  ~ p  F     (1) 
ii. Find the general solution of tan 2x = 0     (1) 
iii. Differentiate sin(x2 + x) w.r.t. x     (1) 
iv. If X ~ B(n, p) and n = 10, E(X) = 5, then find the value of p.   (1) 

  
 
 
  
Attempt any EIGHT of the following questions:     [16] 
Q.3. Using truth table verify that ~ (p  q)  ~ p  ~ q     (2)  
Q.4. Find the matrix of co-factors for the matrix 1 3

4 1
 
  

     (2) 

 
Q.5. Find the angle between the lines represented by 3x2 + 4xy – 3y2 = 0   (2)  
Q.6. a  and b are non-collinear vectors. If c = (x – 2) a  + b  and d = (2x + 1) a  – b  are collinear,  

then find the value of x.       (2)  
Q.7. If a line makes angles 90, 135, 45 with X, Y and Z axes respectively, then find its direction 

cosines.       (2)  
Q.8. Express the following circuit in symbolic form: 
 
 
 
 
 
         (2) 
 
  
Q.9. Differentiate log (sec x + tan x) w.r.t. x.     (2)  
Q.10. Evaluate: 2

d
4 8 
x

x x
       (2) 

 

Q.11. Evaluate: 
2

2

0

cos d



 x x        (2) 

 
Q.12. Solve the differential equation d

d
y
x

= x2y + y     (2) 
 
Q.13. Find expected value of the random variable X whose probability mass function is:  (2) 
  

X = x 1 2 3 

P(X = x) 1
5

 2
5

 2
5

 
 
Q.14. If y = x log x, then find 

2

2
d
d

y
x

.      (2) 
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Attempt any EIGHT of the following questions:     [24]  
Q.15. State the converse, inverse and contrapositive of the conditional statement:  
 ‘If a sequence is bounded, then it is convergent’.      (3)  
Q.16. Show that: sin–1

8
17
 
 
 

 + sin–1
3
5

 
 
   = sin–1

77
85

 
 
  .     (3) 

 
Q.17. Show that the points A(2, 1, –1), B(0, –1, 0), C(4, 0, 4) and D(2, 0, 1) are coplanar.  (3)  
Q.18. If ABC is right angled at B, where A(5, 6, 4), B(4, 4, 1) and C(8, 2, x), then find the value of x. (3)  
Q.19. Find the equation of the line passing through the point (3, 1, 2) and perpendicular to the lines 

1 2 3
1 2 3
  

 
x y z  and 

3 2 5
 


x y z .     (3) 

 
Q.20. Find the distance of the point i 2 j k    from the plane  r i 2 j 4k     = 10   (3) 
 
Q.21. If ex + ey = ex + y, show that d

d
y
x

= – ey – x     (3) 
 
Q.22. The surface area of a spherical balloon is increasing at the rate of 2 cm2/sec. At what rate the 

volume of the balloon is increasing when the radius of the balloon is 6 cm?   (3)  
Q.23. Find the approximate value of e1.005; given e = 2.7183.    (3)  

Q.24. Evaluate:  2 1 3

6

tan
1




x x

x
dx      (3) 

 
Q.25. Solve the differential equation   d

d
y
x

 + y = e–x     (3) 
 
Q.26. If f(x)  = kx,  0 < x < 2 
   = 0,    otherwise, 
 is a probability density function of a random variable X, then find: 
 i. Value of k. 
 ii. P(1 < X < 2)       (3)  
 
   
Attempt any FIVE of the following questions:     [20]  
Q.27. Prove that a homogeneous equation of degree two in x and y  i.e. ax2 + 2hxy + by2 = 0 represents  

a pair of lines passing through the origin, if h2 – ab  0.    (4)  
Q.28. Solve the following linear programming problem: 
 Maximise: z = 150x + 250y 
 Subject to; 4x + y  40 
   3x + 2y  60 
   x   0 
   y  0       (4)  
Q.29. Solve the following equations by the method of reduction: 
 x + 3y + 3z = 12 
 x + 4y + 4z = 15 
 x + 3y + 4z = 13       (4)   
Q.30. In ABC, if a + b + c = 2s, then prove that sin A

2
 
 
 

=   s b s c
bc

  , with usual notations.  (4) 
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Q.31. Function f(x) is continuous on its domain [–2, 2], where  

 f(x)  = sin ax
x

+ 2, for – 2  x < 0 

  = 3x + 5, for 0  x  1 
  = 2 8 b x , for 1 < x  2 
 Find the value of a + b + 2.      (4)  
Q.32. Prove that: 

2
2 2 2 2 aa d a

2 2
    

xx x x log 2 2a x x + c   (4) 
 
Q.33. A fair coin is tossed 8 times. Find the probability that: 
 i. is shows no head 
 ii. it shows head at least once.     (4)  
Q.34. Prove that: 

  
2a

0

f x dx =  
a

0

f x dx +  
a

0

f 2a  x dx     (4) 
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General instruction:  
 The question paper is divided into four sections. 
1. Section A: Q. No 1 contains Ten multiple choice type of question carrying one mark each. 
 i. For each MCQ , correct answer must be written along with its alphabet, e.g., 
  (a) ……. / (b) ……. / (c) ……. / (d) ……. etc. 
 ii. In case of MCQ, evaluation will be done for the first attempt only. 
  Q.No 2 contains Eight very short answer type of questions carrying one mark each. 
2. Section B: Q. No 3 to 14 are short answer type of questions carrying two marks each. 
3. Section C: Q. No 15 to 26 are short answer type of questions carrying three marks each. 
4. Section D: Q. No 27 to 31 are long answer type of questions carrying four marks each. 
5. Being the answer of each section on a new page. 
                                  
Q.1. Select the correct alternative and write the answers:    [10]  
i. Which of the following is most appropriate for thalassemia?   (1) 
 (A) decrease of either beta () or alpha () globin chain of HbA 
 (B) decrease of alpha () cells of pancreas 
 (C) decrease of WBC count 
 (D) decrease of blood platelets  
 
ii. Injury to _______ causes sudden death. 
 (A) cerebrum   (B) pons varolii 
 (C) medulla oblongata   (D)  diencephalon  
iii. Name the smooth muscle of urinary bladder. 
 (A) cardiac muscle   (B)  detrusor muscle 
 (C) dartos muscle   (D) gubernaculum  
iv. Identify the cell labelled ‘A’ in the T.S. of testis : 
 
 
 
 
 
 
    
 (A)  Leydig cell   (B) Basement membrane 
 (C) Sperm   (D) Sertoli cell     
v. _______ represents connecting link between amphibians and reptiles.    
 (A) Seymouria   (B) Archaeopteryx  
 (C) Ichthyostegia   (D) Archaeornis  
vi. How many meiotic and mitotic divisions are required for the formation of male gametophyte from 

pollen mother cell? 
 (A) 2 meiotic and 1 mitotic  (B) 1 meiotic and 1 mitotic 
 (C) 1 meiotic and 2 mitotic  (D) 2 meiotic and 2 mitotic 

BIOLOGY 
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vii. _______ is the common pathway for aerobic and anaerobic respiration. 
 (A) Krebs’ cycle   (B) ETS 
 (C) Calvin cycle   (D) Glycolysis  
viii. Find the odd man out with respect to chemoautotrophs: 
 (A) Nitrosomonas   (B) Chromatium 
 (C) Thiobacillus   (D) Ferrobacillus   
ix. Genotype of blood group ‘AB’ in human is _______. 
 (A) IAIB   (B) IBi 
 (C) IAIA   (D) ii  
x. Linker-DNA, connecting two successive nucleosomes, consists of _______.  
 (A) 146 base pairs   (B) 200 base pairs 
 (C) 160 base pairs   (D) 54 base pairs  
Q.2. Answer the following questions :     [8]       
 i. Where were the bones of jaws and teeth of Ramapithecus found?  
 ii. In electrocardiogram , QRS complex stands for: 
 
 
 
 
 
 
 
 
 
 
     
 iii. Laxman has low secretion  of ADH resulting in _______ type of diabetes.  
 iv. Name the region of retina where rods and cones are absent.  
 v. Among biotic components, the micro consumers are called _______.  
 vi Identify ‘A’ in the chart given below:      

 Product Plant 
(1) Nicotine Nicotiana tabacum 
(2) Vincristin, Vinblastin ‘A’ 

 
 vii. The genotypic ratio 1:2:2:4:1:2:1:2:1 is obtained in F2 generation. What will be the 

phenotypic ratio?  
 viii. Define the term ‘recessive’ 
 
   
 Attempt any eight of the following questions:      [16]  
Q.3. Sketch and label angiospermic embryo sac.  
Q.4. To avoid photorespiration, which anatomical pecularities are shown by C4 plants?  
Q.5. Enlist the steps involved in rDNA technology.  
Q.6. Define the terms : 
 i. Bio- patent  ii. Bio-piracy  
Q.7. Give the flow chart of central dogma. 

Section-B 
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Q.8. How will you identify that, F1 hybrid is homozygous or heterozygous? Explain it with a suitable  
 example.  
Q.9. Give any two contrasting traits studied by Mendel.    
Q.10. Match the pairs and rewrite :   

 Column I  Column II 
(1) Mechnical means (a) Saheli 
(2) Physiological device (b) Jellies 
(3) Chemical device (c) Vasectomy 
(4) Permanent Method (d) Diaphragm 

 
Q.11. Redraw, complete and label the diagram given below, which relates to reflex arc: 
 
 
 
                           
 
 
    
 
  
Q.12  Explain Hardy-Weinberg’s principle, with the help of Punnet square.  
Q.13. Complete the following chart and rewrite:   

S.NO Type Example 
1. Vulnerable species Clouded leopard, Musk deer 
2. ________________ Great Indian Bustard, Hawaiian 

monk seal 
3. ________________ Three banded armadillo (Brazil) 

Short eared rabbit (Sumatra)  
Q.14. Complete the tree diagram and write examples of (A) and (B) :  

        
 
 
 
 
 
 
 
 
 

 
 
 Attempt any EIGHT of the following questions :      [24]  
Q.15. Give the location and one function of the following receptors : 
 (i) Mechanoreceptors  (ii) Statoacoustic receptors (iii) Baroreceptors  
Q.16. Classify the following composition of blood plasma given below as per column ‘A’ and complete 

column ‘B’. Select from the given options: 
 (i) Serum albumin  (ii) Bicarbonates  (iii) Urea  
 (iv) Sulphates of sodium (v) Fibrinogen  (vi) Uric acid  

 Column A Column B 
(1) Plasma Proteins _________, _______ 
(2) Nitrogenous waste _________, _______ 
(3) Inorganic Salts _________, _______ 

Section-C 

Types of air pollutants

(A) Fine particles (B) Coarse particles
Size: Less than _______ m in diameter
Ex.: (i) Aerosols 
       (ii) _______ 

Size: Over _____ m in diameter 
Ex.: (i) Carbon particles 
 (ii) ________ 

Pin prick

Muscle  
contraction

www.saiphy.com

www.saiphy.com



4

 

  

BIOLOGY 



Q.17. Name the causative agent of malaria. State any two symptoms and two preventive measures of 
malaria.  

Q.18. Identify ‘1’ and ‘2’ in the following diagram: 
 
 
     
 
 
 
 
 
 
 
 
 
 
 Write in brief about production of vaccine. 
Q.19. Satish is a colorblind boy. His mother has normal vision but his maternal grandfather is colourblind. 

His father and maternal grandmother have normal vision. Explain the pattern of inheritance with a 
suitable chart. 

 
Q.20. What are the requirements of dairy management? Give one example of each Indian and exotic breed 

of cow.  
Q.21. Distinguish between DNA and RNA.  
Q.22. What is ‘green revolution’? Give any two examples each of the improved varieties of wheat and 

rice.  
Q.23. Give microbial source of the following products in industrial production: 
 (i) Vitamin B12   (ii) Chloromycetin 
 (iii) Pectinase  
Q.24. State the significance of respiration.  
Q.25. Explain the mechanism of anaerobic respiration.  
Q.26. Describe the role of citizens in solid waste management. 
  
     
Attempt any THREE of the following questions:      [12]  
Q.27. Sketch the internal structure of human heart. Label all the valves present in it. Mention the function 

of any one valve in the heart.  
Q.28. With the help of a suitable diagrammatic representation explain HSK pathway.  
Q.29. Describe the process of fertilization in human with the help of four sequential diagrams.  
Q.30. What is artificial method of vegetative propagation? 
 (i) Cutting,  
 (ii) Budding.  
Q.31. Describe the system associated with elimination of urine with the help of a neat, labelled diagram. 
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